ImageRUNNER
ADVANCE DX

C58701 / C5860i
C58501 / C5840i

CATALOG

November 2, 2021
Rev. 1

COPYRIGHT © 2021 CANON INC. CANON imageRUNNER ADVANCE DX C5800 Series Rev. 1 PRINTED IN U.S.A.



Canon

PRE
SNL
A1C
A2
001B
100B
100C
101
102C
102D
103
104
105
106
107A
107B
108
111
112
113
114
130
140B
140C
191
192
193
194A
194B
250
261A
261B
261C
262A
262B
262C
270A
270B
280
290

| ndex

PREFACE
Product Code No. /Serial No.

ASSEMBLY LOCATION DIAGRAM

OPTION PARTS CATALOG LIST
ACCESSORIES

EXTERNAL COVERS, PANELS, ETC. (230V)
EXTERNAL COVERS, PANELS, ETC. (120V)
INTERNAL COMPONENTS 1
INTERNAL COMPONENTS
INTERNAL COMPONENTS

2 (C5870, 5860, (5850 SERIES)
2
INTERNAL COMPONENTS 3
4
5
6

(C5840 SERIES)

INTERNAL COMPONENTS

INTERNAL COMPONENTS

INTERNAL COMPONENTS

MACHINE REAR PLATE 1 (C5870, C5860, (5850 SERIES)
MACHINE REAR PLATE 1 (C5840 SERIES)

MACHINE REAR PLATE 2

RIGHT DOOR ASSEMBLY T

RIGHT DOOR PAPER FEED ASSEMBLY

RIGHT DOOR ASSEMBLY 2

RIGHT DOOR ASSEMBLY, LOWER

CONTROL PANEL ASSEMBLY

POWER CORD TERMINAL ASSEMBLY (120V US, CA, LTN)
POWER CORD TERMINAL ASSEMBLY (230V LTN, EUR, AU, SG, KR)
FRONT FAN ASSEMBLY

REAR FAN ASSEMBLY

FAN ASSEMBLY (C5870, (€5860, €5850 SERIES)

SIDE END COOLING FAN ASS'Y (Cb870, (5860, (5850 SERIES)
SIDE END COOLING FAN ASS'Y (C5840 SERIES)

MAIN DRIVE ASSEMBLY

PAPER PICK-UP DRIVE ASSEMBLY (C5870 SERIES)

PAPER PICK-UP DRIVE ASSEMBLY (C5840 SERIES)

PAPER PICK-UP DRIVE ASSEMBLY (C5860, C5850 SERIES)
REG. DUPLEXING DRIVE ASSEMBLY (C5870 SERIES)

REG. DUPLEXING DRIVE ASSEMBLY (C5840 SERIES)

REG. DUPLEXING DRIVE ASSEMBLY (C5860, (5850 SERIES)
BOTTLE DRIVE ASSEMBLY (C5870, C5860, Cb5850 SERIES)
BOTTLE DRIVE ASSEMBLY (C5840 SERIES)

FIXING DRIVE ASSEMBLY

LIFTER DRIVE ASS"Y

imageRUNNER ADVANCE DX C5800 Series (CUSA)

2021-11-02



Canon

310A
310B
311A
311B
313
315
316
320
321A
321B
332
350
351
352
460A
460B
460C
530
627
628
640
650B
770
771
772
773
774
775
810C
810D
810E
810F
900
910C
910D
910E
930B
962
980
981

| ndex

PAPER PICK-UP ASSEMBLY, 1 (

PAPER PICK-UP ASSEMBLY, 1 (C5840 SERIES)

PAPER PICK-UP ASSEMBLY, 2 (Cb870, (5860, C5850 SERIES)
PAPER PICK-UP ASSEMBLY, 2 (C5840 SERIES)

VERTICAL PATH LOWER GUIDE ASS"Y

MULTI PAPER PICK-UP TRAY ASS"Y

MULTI PAPER PICK-UP ASSEMBLY

SECONDARY TRANSFER ASS’Y

REGISTRATION ASSEMBLY (C5870, (5860, (€5850 SERIES)
REGISTRATION ASSEMBLY (C5840 SERIES)

DUPLEXING GUIDE ASSEMBLY

PAPER DELIVERY ASSEMBLY

FIRST PAPER DELIVERY ASSEMBLY

SECOND PAPER DELIVERY ASSEMBLY

LASER SCANNER ASSEMBLY (C5870 SERIES)

LASER SCANNER ASSEMBLY (C5840 SERIES)

LASER SCANNER ASSEMBLY (C5860, C5850 SERIES)

INTER. TRANSFER BELT ASSEMBLY

BOTTLE BASE ASSEMBLY, BLACK

BOTTLE BASE ASSEMBLY, COLOR

DEVELOPING ASSEMBLY

TRAY DRUM ASSEMBLY

CONTAINER, WASTE TONER, WT-202

WASTE TONER DRIVE ASS’Y, FRONT

WASTE TONER DRIVE ASS'Y, REAR

WASTE TONER FEED ASSEMBLY

INTERDEDIATE FEED DRIVE ASS"Y

INTERDEDIATE FEED ASS'Y
FIXING ASSEMBLY, FX-207
FIXING ASSEMBLY, FX-205
FIXING ASSEMBLY, FX-207
FIXING ASSEMBLY, FX-205
CONTROLLER BOX ASSEMBLY
POWER SUPPLY ASSEMBLY (120V (5870, €5860, (5850 SERIES)
POWER SUPPLY ASSEMBLY (120V C5840 SERIES)

POWER SUPPLY ASSEMBLY (230V)

MAIN CONTROLLER PCB ASSEMBLY

PAPER FEED DRIVER PCB ASSEMBLY

H. V. POWER SUPPLY/ DUCT ASS"Y

TRANSFER H. V. PCB ASSEMBLY

C5870, (5860, C5850 SERIES)

—_

20V C5840 SERIES)
230V 5870, 60, 50 SERIES)

(
(
(
(C5840 SERIES)

imageRUNNER ADVANCE DX C5800 Series (CUSA)

20V €5870, €5860, C5850 SERIES)

2021-11-02



Canon

I ndex
BO2  ADF MAINTENANCE KIT
B11B  INTERNAL COMPONENTS 1
B12B  INTERNAL COMPONENTS 2
B13 INTERNAL COMPONENTS 3
B14 INTERNAL COMPONENTS 4
B15  DOCUMENT TRAY ASSEMBLY
B16  OPEN/CLOSE COVER ASSEMBLY
B17  BASE FRAME ASSEMBLY
B40  PLATEN GUIDE ASS'Y
B9O  DF DRIVER PCB ASSEMBLY
D11B  READER ASSEMBLY
H30B  CASSETTE ASSEMBLY (SMALL)
H31B  CASSETTE ASSEMBLY (LARGE)
ZZA  MECHANICAL STANDARD PARTS (HOW TO USE)

(

Z7ZB MECHANICAL STANDARD PARTS (SCREWS)

zzC MECHANICAL STANDARD PARTS (BOLTS)

ZZD MECHANICAL STANDARD PARTS (NUTS)

ZZE MECHANICAL STANDARD PARTS (RETAINING RINGS)

imageRUNNER ADVANCE DX C5800 Series (CUSA)

2021-11-02



Canon 2021-11-02

Figure PRE (1/5) PREFACE

HHow to read the parts list
PART NUMBER column:

- NPN : No Part Number (no service part number is assigned)

QTY column:
- AR : As Required (appropriate quantity, e.g. screw)

- RF : Reference (not available as a service part)

REMARKS column:

- [DP] : Durable Parts (periodically replaced parts/consumable parts)

B—VYRFDRA
PART NUMBER ##

-NPN i —EXEBEHREL L

QTY ##
- AR : As Required (L E#(E X% &)
- RF : Reference (4 —E XE&EA L)

REMARKSH
- [DP] : Durable Parts (T #i3c &8 M/ E5EERR)

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure PRE (2/5) PREFACE

P 11 """" 2832

flow line
70—%

key No.
*—&5

key No Indicates the key No. in the list.

F—EE 12 kokey No. A% L TLET . index line

SR

flow line Indicates where the part is connected.
70— BROEEEERLTVET,

index line Leader line of the key No.
5| R key No.D 3| H#&,

2% 1.The part which key No. is enclosed with the solid line represents the
periodically replaced part or the consumable part [DP].
key No. "EROBTHENBRE. EHMRMBRLEEMBRDOPIZERLTVET,

%2.The parts enclosed with the dotted line are shipped as an unit.
In the case of KIT parts, the parts enclosed with the dotted line are shipped together.
RROBRTEIENBRIZ. 1=y FORETHREAES,
KITSBROGEEIZ, RROBRTEEL BRIARBRETHAEINET,

33.Service part numbers are not assigned to the parts without key No.
key No.M W &GIX, H—EXRBINRESATVEE A,

4.For screws/bolts/nuts/retaining rings without key No., check the part numbers in
Figure ZZA to ZZE (Mechanical Standard Parts) at the end of the parts catalog.
key No.@ 7z W R C/ARIL bH v MMIEHERIZ DL TIE, HFRODFigure ZZA~ZZE
(BWREDR)ZRTHMBFERAITILESLY,

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure PRE (3/5) PREFACE

12 X4 (M} 3

N~
A < J712)

\g . (V1639)

~

(J201)

(J143)

2

AT

%3

AR
.// (sLa) 10

Parts which are not disassembled in the illustration (for example,

parts assembled to the main frame) cannot be supplied for reasons

such as that parts replacement cannot be guaranteed.

1SR METHREINTWVENERREE D L—AICHR TR KREOE S &)L,
MERBERAETELVEOERAICKIYBBTEEEA,

2% 1.The part which key No. is enclosed with the solid line represents the
periodically replaced part or the consumable part [DP].

key No AARBOBRTEEN-EAIE, EHAZRBRHEBRADPIZRLTLET,

%2.The parts enclosed with the dotted line are shipped as an unit.
In the case of KIT parts, the parts enclosed with the dotted line are shipped together.
RROBRTEENBRIT, 2=y FORETHESLET,
KITEROEEE. fIRORTEENBRARBRETHFTSIIET,

%3.Service part numbers are not assigned to the parts without key No.
key No.D7% W& IZ, y—EXBBENBRESATVERA,

%4 .For screws/bolts/nuts/retaining rings without key No., check the part numbers in
Figure ZZA to ZZE (Mechanical Standard Parts) at the end of the parts catalog.
key No. D% LM L/ARIL F- v MIESDERIZDWNTIE, HEDFigure ZZA~ZZE
(HHRERR)ZR THEERASTILESL,

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure PRE (4/5) PREFACE

SEE FIGURE + Connect symbol
Hs® RS

FIGURE 101

5
14 (3045 / g 7 20

(J8207) \ 3046)
s040) SEE FIGURE 950

\

(Wﬁﬁ \ 7 &

” P

B2 P
ity

";x
> o
&, eﬁs,l/
24'/ o

FIGURE 622

5 TO FIGURE 622
Z

7 e 8043
e )

wB031) +

5‘2‘5/7\ 8038 N s e

- H 6 %

(7138)

R

/ r1750)

(118230)

?// 7

& SEE PIGURE 460 8-z

=7\
SEE FIGURE 460)5%-_,,

; BN
\— <N
@%;L ~ S

S R
S

Vi)
TR

WT139)

] L |
mmn\ H '\
'

1 1 &

7103)
18

e

T T)

~_ tmenes "/ """"""""
\ SEE FIGURE \_| Connect symbol
S8 i3

SEE FIGURE Figure to be referenced is shown.
R& 8 SBT SFigureZRLTVET,
Connect symbol Indicates the figuer to which it is connected.
ERe B OFigureZ R L TLETS,
SEE FIGURE + Connect symbol Indicates the figuer to which it is connected and where the part is connected
K& et = B DFigure L BBRDTEMEZRLTLET,

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure PRE (5/5) PREFACE

AU CN

Parts by destination
tEm o B AR &

Deferent parts by Country/Region/Voltage/Model/Language/Function/Type/Paper Size
E/thg/ BRI TIVIEEMEEA /RS 4 XTELZSHAR,

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

Figure SNL

A O DN -

o N o o

10
11
12

13
14
15
16

17
18
19
20
21
22
23
24
25
26
27
28

Product Code
No.

F17-1431-000
F81-7031-000
F81-8431-000
F17-1433-000

F17-4731-000
F81-7131-000
F81-8531-000
F17-4733-000

F17-4631-000
F81-7231-000
F81-8731-000
F17-4633-000

F17-1331-000
F81-7331-000
F81-8831-000
F17-1333-000

F17-1481-000
F81-7081-000
F81-8481-000
F17-4781-000
F81-7181-000
F81-8581-000
F17-4681-000
F81-7281-000
F81-8781-000
F17-1381-000
F81-7381-000
F81-8881-000

Model Name

imageRUNNER ADVANCE DX C5870i
imageRUNNER ADVANCE DX C5870i
imageRUNNER ADVANCE DX C5870i
imageRUNNER ADVANCE DX C5870i

imageRUNNER ADVANCE DX C5860i
imageRUNNER ADVANCE DX C5860i
imageRUNNER ADVANCE DX C5860i
imageRUNNER ADVANCE DX C5860i

imageRUNNER ADVANCE DX C5850i
imageRUNNER ADVANCE DX C5850i
imageRUNNER ADVANCE DX C5850i
imageRUNNER ADVANCE DX C5850i

imageRUNNER ADVANCE DX C5840i
imageRUNNER ADVANCE DX C5840i
imageRUNNER ADVANCE DX C5840i
imageRUNNER ADVANCE DX C5840i

imageRUNNER ADVANCE DX C5870i
imageRUNNER ADVANCE DX C5870i
imageRUNNER ADVANCE DX C5870i
imageRUNNER ADVANCE DX C5860i
imageRUNNER ADVANCE DX C5860i
imageRUNNER ADVANCE DX C5860i
imageRUNNER ADVANCE DX C5850i
imageRUNNER ADVANCE DX C5850i
imageRUNNER ADVANCE DX C5850i
imageRUNNER ADVANCE DX C5840i
imageRUNNER ADVANCE DX C5840i
imageRUNNER ADVANCE DX C5840i

(1/2)Product Code No. /Serial No

Remarks

120V US, CA, LTN
120V US, CA, LTN
120V US, CA  LTN
120V US
GOVERNMENT model
120V US, CA, LTN
120V US, CA, LTN
120V US, CA, LTN
120V US
GOVERNMENT model
120V US, CA  LTN
120V US, CA, LTN
120V US, CA  LTN
120V US
GOVERNMENT model
120V US, CA  LTN
120V US, CA, LTN
120V US, CA, LTN
120V US
GOVERNMENT model
230V LTN

230V LTN

230V LTN

230V LTN

230V LTN

230V LTN

230V LTN

230V LTN

230V LTN

230V LTN

230V LTN

230V LTN

imageRUNNER ADVANCE DX C5800 Series (CUSA)

Serial No.

2XD
37N
3LA
2XE

2XK
37S
3KT
2XL

2XW
38C
3LJ
2XX

2YJ

38M
3KG
2YK

272G
38V
3JF
2XM
37T
3KU
2XY
38D
3LK
2YL
38N
3KH

2021-11-02



Canon

Figure SNL

A O DN -~

o N o o

10
11
12

13
14
15
16

17
18
19
20
21
22
23
24
25
26
27
28

thof — 5 —
F17-1431-000
F81-7031-000

F81-8431-000
F17-1433-000

F17-4731-000
F81-7131-000
F81-8531-000
F17-4733-000

F17-4631-000
F81-7231-000
F81-8731-000
F17-4633-000

F17-1331-000
F81-7331-000
F81-8831-000
F17-1333-000

F17-1481-000
F81-7081-000
F81-8481-000
F17-4781-000
F81-7181-000
F81-8581-000
F17-4681-000
F81-7281-000
F81-8781-000
F17-1381-000
F81-7381-000
F81-8881-000

HEms
imageRUNNER ADVANCE DX C5870i
imageRUNNER ADVANCE DX C5870i

imageRUNNER ADVANCE DX C5870i
imageRUNNER ADVANCE DX C5870i

imageRUNNER ADVANCE DX C5860i
imageRUNNER ADVANCE DX C5860i
imageRUNNER ADVANCE DX C5860i
imageRUNNER ADVANCE DX C5860i

imageRUNNER ADVANCE DX C5850i
imageRUNNER ADVANCE DX C5850i
imageRUNNER ADVANCE DX C5850i
imageRUNNER ADVANCE DX C5850i

imageRUNNER ADVANCE DX C5840i
imageRUNNER ADVANCE DX C5840i
imageRUNNER ADVANCE DX C5840i
imageRUNNER ADVANCE DX C5840i

imageRUNNER ADVANCE DX C5870i
imageRUNNER ADVANCE DX C5870i
imageRUNNER ADVANCE DX C5870i
imageRUNNER ADVANCE DX C5860i
imageRUNNER ADVANCE DX C5860i
imageRUNNER ADVANCE DX C5860i
imageRUNNER ADVANCE DX C5850i
imageRUNNER ADVANCE DX C5850i
imageRUNNER ADVANCE DX C5850i
imageRUNNER ADVANCE DX C5840i
imageRUNNER ADVANCE DX C5840i
imageRUNNER ADVANCE DX C5840i

(2/2)Product Code No. /Serial No

"E

120V US, CA, LTN
120V US, CA, LTN
120V US, CA, LTN
120V US
GOVERNMENT model
120V US, CA, LTN
120V US, CA, LTN
120V US, CA, LTN
120V US
GOVERNMENT model
120V US, CA, LTN
120V US, CA, LTN
120V US, CA, LTN
120V US
GOVERNMENT model
120V US, CA, LTN
120V US, CA, LTN
120V US, CA, LTN
120V US
GOVERNMENT model
230V LTN

230V LTN

230V LTN

230V LTN

230V LTN

230V LTN

230V LTN

230V LTN

230V LTN

230V LTN

230V LTN

230V LTN

imageRUNNER ADVANCE DX C5800 Series (CUSA)

YTV
No.

2XD
37N
3LA
2XE

2XK
37S
3KT
2XL

2XW
38C
3LJ
2XX

2YJ

38M
3KG
2YK

2ZG
38V
3JF
2XM
37T
3KU
2XY
38D
3LK
2YL
38N
3KH

2021-11-02



Canon

2021-11-02

FIGURE
& KEY
NO.

PART NUMBER

xZ>» 2

QTY

DESCRIPTION

SERIAL NUMBER
IREMARKS

SNL

NPN

RF

Product Code No./Serial No.

F17-1431-000

imageRUNNER ADVANCE DX C5870i

2XD
120V US, CA, LTN

F81-7031-000

imageRUNNER ADVANCE DX C5870i

37N
120V US, CA, LTN

F81-8431-000

imageRUNNER ADVANCE DX C5870i

3LA
120V US, CA, LTN

F17-1433-000

imageRUNNER ADVANCE DX C5870i

2XE

120V US
GOVERNMENT
model

F17-4731-000

imageRUNNER ADVANCE DX C5860i

2XK
120V US, CA, LTN

F81-7131-000

imageRUNNER ADVANCE DX C5860i

378
120V US, CA, LTN

F81-8531-000

imageRUNNER ADVANCE DX C5860i

3KT
120V US, CA, LTN

F17-4733-000

imageRUNNER ADVANCE DX C5860i

2XL

120V US
GOVERNMENT
model

F17-4631-000

imageRUNNER ADVANCE DX C5850i

2XW
120V US, CA, LTN

10

F81-7231-000

imageRUNNER ADVANCE DX C5850i

38C
120V US, CA, LTN

1"

F81-8731-000

imageRUNNER ADVANCE DX C5850i

3LJ
120V US, CA, LTN

12

F17-4633-000

imageRUNNER ADVANCE DX C5850i

2XX

120V US
GOVERNMENT
model

13

F17-1331-000

imageRUNNER ADVANCE DX C5840i

2YJ
120V US, CA, LTN

14

F81-7331-000

imageRUNNER ADVANCE DX C5840i

38M
120V US, CA, LTN

15

F81-8831-000

imageRUNNER ADVANCE DX C5840i

3KG
120V US, CA, LTN

16

F17-1333-000

imageRUNNER ADVANCE DX C5840i

2YK

120V US
GOVERNMENT
model

17

F17-1481-000

imageRUNNER ADVANCE DX C5870i

272G
230V LTN

18

F81-7081-000

imageRUNNER ADVANCE DX C5870i

38V
230V LTN

19

F81-8481-000

imageRUNNER ADVANCE DX C5870i

3JF
230V LTN

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
. . 2XM
20 F17-4781-000 1 imageRUNNER ADVANCE DX C5860i
230V LTN
. . 37T
21 F81-7181-000 1 imageRUNNER ADVANCE DX C5860i
230V LTN
. . 3KU
22 F81-8581-000 1 imageRUNNER ADVANCE DX C5860i
230V LTN
. . 2XY
23 F17-4681-000 1 imageRUNNER ADVANCE DX C5850i
230V LTN
. . 38D
24 F81-7281-000 1 imageRUNNER ADVANCE DX C5850i
230V LTN
. . 3LK
25 F81-8781-000 1 imageRUNNER ADVANCE DX C5850i
230V LTN
. . 2YL
26 F17-1381-000 1 imageRUNNER ADVANCE DX C5840i
230V LTN
. . 38N
27 F81-7381-000 1 imageRUNNER ADVANCE DX C5840i
230V LTN
. . 3KH
28 F81-8881-000 1 imageRUNNER ADVANCE DX C5840i
230V LTN

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure A1C (1/6) ASSEMBLY LOCATION DIAGRAM

CONTROL PANEL ASSEMBLY
1RIERR

130D

CASSETTE ASSEMBLY (SMALL)
Aty 5B (SMALL)

(H30D
CASSETTE ASSEMBLY (LARGE)
H+ v M (LARGE)

MULTI PAPER PICK-UP TRAY ASS'Y fa1*
/ TILFHEAR LA 8 o

@150

RIGHT DOOR ASSEMBLY 2
GR7E (2)

EEED)

[RIGHT DOOR PAPER FEED ASSEMBLY

B F 7 iREEp
12>
RIGHT DOOR ASSEMBLY 1 ‘
AR7E (1 )7 DUPLEXING GUIDE ASSEMBLY
GLD WEHA FE

332>

VERTICAL PATH LOWER GUIDE ASS'Y
AFEM SR T

G313

SECONDARY TRANSFER ASS'Y
ZREFH
Cs200

RIGHT DOOR ASSEMBLY, LOWER
BR7E8 (F)

114>

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure A1C (2/6) ASSEMBLY LOCATION DIAGRAM

FIXING ASSEMBLY
EiEwHR

(810>

SIDE END COOLING FAN ASS'Y
InERAE T 7 A

SE /

T L FHEHRED
(3160

‘ MULTI PAPER PICK-UP ASSEMBLY

PAPER PICK-UP ASSEMBLY, 1

FEARER (1)
@105 PAPER DELIVERY ASSEMBLY
HEARER
PAPER PICK-UP ASSEMBLY, 2 P
aaEE (2) 3500
G1o SECOND PAPER DELIVERY ASSEMBLY
5 2 BEARER

(352>

INTER. TRANSFER BELT ASS'Y FIRST PAPER DELIVERY ASSEMBLY

FRZES NI MR 51 HERRED
(5300 D
REGISTRATION ASSEMBLY
LR ML—2 3 U8R
G210

\ / FRONT FAN ASSEMBLY
77 8h

~L &

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure A1C (3/6) ASSEMBLY LOCATION DIAGRAM

BOTTLE BASE ASSEMBLY, COLOR N BOTTLE BASE ASSEMBLY, BLACK
KRR R—ZE (H5—) KL A= (T5v949)
628> 627>

LASER SCANNER ASSEMBLY
L—¥— ZX¥v+—8&

DEVELOPING ASSEMBLY
B

Ced0>

TRAY DRUM ASSEMBLY
RZLMLSA2ZY b

(8507

WASTE TONER FEED ASSEMBLY
[EUR ~F—HRE A

773>

CONTAINER, WASTE TONER, WT-202
EYR bF— H—RE (WT—202)

INTERDEDIATE FEED DRIVE ASS'Y 7700
IR~ — X ER BN &R

G

INTERDEDIATE FEED ASS'Y
B4R+ — RS AR

o

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure A1C (4/6) ASSEMBLY LOCATION DIAGRAM

REAR FAN ASSEMBLY ‘

®o7 U
s>
FIXING DRIVE ASSEMBLY . I AoSEMELY
EERBER p—
T 2o
REG. DUPLEXING DRIVE ASSEMBLY
LU FEERE Sy
(262 ™
R <~ %
» MAIN DRIVE ASSEMBLY
PAPER PICK-UP DRIVE ASSEMBLY o - * 1 L EREER
HEHEER S ER _ - (250>
261
FAN ASSEMBLY
LIFTER DRIVE ASS'Y Hlatm o7 S8
Y 75 —EmE =

) Qe3>

CONTROLLER BOX ASSEMBLY
arvhka—5— KRyHRER

900>

MAIN CONTROLLER PCB ASSEMBLY
A vy bO—Z—RERRER

(9300

PAPER FEED DRIVER PCB ASSEMBLY
i K54 N—EEER

962>

TRANSFER H.V. PCB ASSEMBLY

H.V. PWR SPLY./ EXHAUST ASS'Y R
EEFSREEI=v } &5@&@%%?
980D o81>
POWER SUPPLY ASSEMBLY
EIRED
@105

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

Figure A1C

2021-11-02

(5/6) ASSEMBLY LOCATION DIAGRAM

POWER CORD TERMINAL ASSEMBLY
BREI—FEER

WASTE TONER DRIVE ASS'Y, FRONT
EIR ~+—ERBNED (B
| |
(140

7

| WASTE TONER DRIVE ASS'Y, REAR
EUR - —EREED (%)

e

READER ASSEMBLY
58

@1

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure A1C (6/6) ASSEMBLY LOCATION DIAGRAM

DOCUMENT TRAY ASSEMBLY
OPEN/CLOSE COVER ASSEMBLY [EF b LA BB

BHRR /A —E5 — <: 35\)
(B16D
- //\\
S S 7

\

|

/ /
o
\\ //;/
N
\\//
DF DRIVER PCB ASSEMBLY
D F K54 N\—EBRER BASE FRAME ASSEMBLY
(B9 A—R  TL—LE

B

PLATEN GUIDE ASS'Y
TSTY HAKRE
(B40D>

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

Figure A2

OPTION PARTS CATALOG LIST

This is the table of the machine’ s options whose parts catalog is issued.
AEDA T3 oT R=YHEATNETIATLIHREO—BETHS,

2021-11-02

No. Model Name(English) Model Name(Japanese)
1| Platen Cover-Y3 FiEAEHhN—- Y3
2| ADF Access Handle-A1 ADF7OEANVEIL - A1
3| Printer Cover-M2 F1) B HIN— - M2
4| NFC Kit-E2 NFCHy hk-E2
5| Paper Deck Unit-F1 R—)8—FwyFxa=w k- F1
6| Cassette Feeding Unit-AQ1 2BAEY RRTARAIL - AQ1
7| High Capacity Cassette Feeding Unit-C1 RKEENEYRMRTARAE) - C1
8| Tab Feeding Attachment-F1 AUTIDRAMTEIFA - FA
9| 1st Copy Tray Kit-A1 F1aE—btLA Fub- A1
10| 3rd Copy Tray Kit-A1 F3aEF—kLA Fub- A1
11| Inner 2way Tray-M1 AoF—29z4 LA - M1
12| Staple Finisher-AB1 ATFATNIT4=Zviv—- AB1
13| Inner Finisher-L1 AVF—J4=yv—- L1
14| Booklet Finisher-AB1 FRLIs1=vv—- AB1
15| 2/3 Hole, 2/4 Hole, 4 Hole Punche r Unit 239, 2495, 47NV Fr—1=y
-A1 -A1
16| Inner 2/3 Hole, 2/4 Hole, 4 Hole Punche r AF—2/39%, 2/4R, 45U Fv—2
Unit-D1 Z—yhk-D1
17| Buffer Pass Unit-P1 Ny T 7—NRA=y k- P1
18| Reader Heater Unit-Q1 )—HF—E—4—Fvy +-Q1
19| Cassette Heater Unit-42 (BREA L)
20| Paper Deck Heater Unit-C1 R=\—FyFk—R—a=yp-CH1
21/ Utility Tray-B1 1—F4UFA—FLA-B1
22| Copy Card Reader Attachment-B7 aF—h—FKY—4—HEftltxv k- B7
23| Numeric Keypad-A2 ToF—-A2
24| Super G3 FAX Board-AX1 (AAREM (+7 L)
25| Super G3 2nd Line Fax Board-AX1 GI3MEEBHEFy b (2[EKF) - AX1
26| Super G3 3rd/4th Line Fax Board-AX1 GI3EBEHRFv ~ (3 - 4EK) - AX1
27| (JAPAN ONLY) NUREyb-G2
28| image PASS-R1 imagePASS—RI1
29| Voice Guidance Kit-G1 (BFREAR F4L)
30| Voice Operation Kit-D1 EEEEXY L-D1
31| (JAPAN ONLY) i R—ADVESEBEHZE IV M- A3
32| Serial Interface Kit-K3 DYTFIA R —T—AFy - K3
33| Copy Control Interface Kit-A1 a kA=A —TJ—XFy b A1
34| 1TB SSD-A1/250GB SSD-A1 *#7LarssD (1TB) - A1
/7 (250GB) - A1
35| Memory Mirroring Kit-A1 AEN—25—)5Fy b A1
36| IC Card Reader Box for Numeric Keypad-A1 FTUoF—RICH—FY—4F—HRyvyH X - A1
37| Copy Card Reader-F1 aAE—hA—KR)—4—-F1
38| Connection Kit-A3 for Bluetooth LE JhEEX Y - A3
for Bluetooth LE
39| Option Attachment kit for Reader-A2 Yy—S—FA T avBitFy k- A2

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 001B ACCESSORIES

(A3 | A4D | A4D
(AR AARD| ASD

ASRD|13x19'5)12x18'5

(B | 19075 17T
% BYD | D
[ ¥ho | ¥ho | @teo
[FmﬂgcanleFmﬂscapG Envelope
<> (==

5

]

e

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
001B NPN RF ACCESSORIES
1 FE4-2809-000 1 HOLDER, SERVICE BOOK
2 FE2-D452-000 1 CLOTH, CLEANING
3 FL0-4625-000 1 ENVELOPE VERTICAL FEED ASS'Y
4 FL0-2305-000 1 ENVELOPE HORIZONTAL FEED ASS'Y

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 100B (1/2)EXTERNAL COVERS, PANELS, ETC. (230V)

NOTE 1 : Several kinds of labels are attached on the board for the parts of Key No. 22. NOTE 2 : The part shown with key No. 22 is same as
Fig-Key No. 102-10 and 650-5. NOTE 3 : Several kinds of labels are attached on the board for the parts of Key No. 23.

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 100B (2/2)EXTERNAL COVERS, PANELS, ETC. (230V)

NOTE 1 : Several kinds of labels are attached on the board for the parts of Key No. 22. NOTE 2 : The part shown with key No. 22 is same as
Fig-Key No. 102-10 and 650-5. NOTE 3 : Several kinds of labels are attached on the board for the parts of Key No. 23.

23
\
!

X

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

FIGURE R
&KEY | PARTNUMBER | QTy DESCRIPTION SERIAL NUMBER
NO. N IREMARKS
K
100B NPN RF  |[EXTERNAL COVERS, PANELS, ETC. 230V

1 FE3-9169-000 4 |capP

2 FE8-6963-000 1 |COVER, RIGHT FRONT, UP. INNER

3 FE8-6968-000 1 |COVER, CONNECTOR, RIGHT, LOWER

4 FL1-3948-000 1 |COVER, FRONT LEFT, LOWER

5 FL1-4391-000 1 |LABEL, SERVICE

6 FL1-5325-000 1 |COVER, RIGHT LOWER, FRONT

7 FL1-5326-000 1 |COVER, RIGHT LOWER, REAR

8 FM1-R797-000 1 |DOOR STOPPER UNIT, FRONT

9 FE8-4725-000 1 |COVER, THIRD PAPER DELIVERY

10 FE2-D770-000 1 |LINK, MULTI PAPER PICK-UP, FR.

11 FE8-7347-000 1 |LINK, MULTI PAPER PICK-UP, RR.

12 FM1-U186-000 1 |RIGHT FRONT UP. COVER ASSEMBLY

13 FE2-D596-000 1 [LEVER, DOOR TOGGLE

14 FE8-6982-000 1 |COVER, MAIN SWITCH

15 FM1-T142-000 1 |FRONT COVER ASSEMBLY C5840 SERIES

15 FM1-U554-000 1 |FRONT COVER ASSEMBLY gz:g,scsseo, €5850

16 FM1-U651-000 1 |GLASS CLEANING ROD ASSEMBLY

17 FE8-4710-000 2 |COVER, HANDLE

18 FE2-D595-000 1 |COVER, RIGHT, LOWER

19 XA9-0893-000 15  |SCREW, M4x8

20 FL1-6298-000 1 |PAD, GLASS CLEANING [DP]

21 FM1-U137-000 1 |EXTENSION GUIDE ASS'Y

22 FE2-D965-000 1 |LABEL, TONER SEENOTE 1
SEE NOTE 2

23 FE8-7383-000 1 |LABEL, FEED SIZE SEE NOTE 3

24 FE3-9167-000 1 |GUIDE, REVERSE BACK END

25 FM1-U134-000 1 1ST PAPER DELIVERY TRAY ASS'Y

26 XA9-2050-000 2 |SCREW, SELF-TAPPING, M3

27 FE2-A295-000 1 |BAND, COVER, FRONT

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 100C (1/2)EXTERNAL COVERS, PANELS, ETC. (120V)

NOTE 1 : Several kinds of labels are attached on the board for the parts of Key No. 22. NOTE 2 : The part shown with key No. 22 is same as
Fig-Key No. 102-10 and 650-5. NOTE 3 : Several kinds of labels are attached on the board for the parts of Key No. 23.

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 100C (2/2)EXTERNAL COVERS, PANELS, ETC. (120V)

NOTE 1 : Several kinds of labels are attached on the board for the parts of Key No. 22. NOTE 2 : The part shown with key No. 22 is same as
Fig-Key No. 102-10 and 650-5. NOTE 3 : Several kinds of labels are attached on the board for the parts of Key No. 23.

23
\
!

X

SEE FIGURE
350

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

FIGURE R
&KEY | PARTNUMBER | QTy DESCRIPTION SERIAL NUMBER
NO. N IREMARKS
K
100C NPN RF  |[EXTERNAL COVERS, PANELS, ETC. 120V

1 FE3-9169-000 4 |capP

2 FE8-6963-000 1 |COVER, RIGHT FRONT, UP. INNER

3 FE8-6968-000 1 |COVER, CONNECTOR, RIGHT, LOWER

4 FL1-3948-000 1 |COVER, FRONT LEFT, LOWER

5 FL1-4391-000 1 |LABEL, SERVICE

6 FL1-5325-000 1 |COVER, RIGHT LOWER, FRONT

7 FL1-5326-000 1 |COVER, RIGHT LOWER, REAR

8 FM1-R797-000 1 |DOOR STOPPER UNIT, FRONT

9 FE8-4725-000 1 |COVER, THIRD PAPER DELIVERY

10 FE2-D770-000 1 |LINK, MULTI PAPER PICK-UP, FR.

11 FE8-7347-000 1 |LINK, MULTI PAPER PICK-UP, RR.

12 FM1-U186-000 1 |RIGHT FRONT UP. COVER ASSEMBLY

13 FE2-D596-000 1 [LEVER, DOOR TOGGLE

14 FE8-6982-000 1 |COVER, MAIN SWITCH

15 FM1-T142-000 1 |FRONT COVER ASSEMBLY C5840 SERIES

15 FM1-U554-000 1 |FRONT COVER ASSEMBLY gz:g,scsseo, €5850

16 FM1-U651-000 1 |GLASS CLEANING ROD ASSEMBLY

17 FE8-4710-000 2 |COVER, HANDLE

18 FE2-D595-000 1 |COVER, RIGHT, LOWER

19 XA9-0893-000 15  |SCREW, M4x8

20 FL1-6298-000 1 |PAD, GLASS CLEANING [DP]

21 XA9-2050-000 2 |SCREW, SELF-TAPPING, M3

22 FE2-D965-000 1 |LABEL, TONER SEENOTE 1
SEE NOTE 2

23 FE8-7383-000 1 |LABEL, FEED SIZE SEE NOTE 3

24 FE2-A295-000 1 |BAND, COVER, FRONT

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 101 INTERNAL COMPONENTS 1

(J205)
59

&3

&
J2202 ;
( (J2)208) (J2291)

|
o D
012)
z
2
f W Po(swe) 2 i
’ Po(J2240) \
% S @
% ﬁg { ‘(/
5 L

(SW16) \
(J2424) )

P
Q/é(iw 0)

S e \(JZZOO)
4
)
FM9) | -
EJ220)1)®\‘)401)@ \
3

& 28
(J2200)
(J2201)
N
SEE FIGURE (J2433)
191 ¢ (J2291)

8

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
101 NPN RF INTERNAL COMPONENTS 1
1 FM1-T166-000 1 MAIN SWITCH UNIT SW16, J2424
2 WC2-5806-000 1 SWITCH, PUSH SW9, J2240
3 FK2-7291-000 1 FAN FM9, J2201
4 FK4-4956-000 1 FAN FM10, J2200
5 FE8-7972-000 1 HINGE, LOWER, FRONT
6 FU2-2599-000 1 SCREW, STEPPED, M4
7 FM1-U057-000 1 FIXING DRAWER ASSEMBLY J2230, J5006, J5012
8 XA9-2050-000 15 SCREW, SELF-TAPPING, M3

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 102C INTERNAL COMPONENTS 2 (C5870, (5860, (5850 SERIES)

NOTE 1 : Several kinds of labels are attached on the board for the parts of Key No. 10. NOTE 2 : The part shown with key No. 10 is same as
Fig-Key No. 100-22 and 650-5.

(J309) (J2272)

IQ _ SEE FIGURE 194*
J308 S A
( )/ /(J2220) /

SEE FIGURE 627

SEE FIGURE 640

‘ \ SEE FIGURE
650*
SEE FIGURE
B \ 650*
/ SEE FIGURE 7

|
\ 3 650* /
SEE FIGURE SN % Efggé)
650* .
& 7o

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
C5870, C5860, C5850
102C NPN RF INTERNAL COMPONENTS 2
SERIES
1 FE2-D596-000 1 LEVER, DOOR TOGGLE
2 FU2-2390-000 8 SCREW, STEPPED, M4
3 XA9-2050-000 15 SCREW, SELF-TAPPING, M3
4 FU2-2321-000 1 SPRING, TORSION, GROUNDING
H2
5 FM1-T043-000 1 DRUM HEATER UNIT
100V, 120V
H4
5 FM1-W375-000 1 DRUM HEATER UNIT
230V
6 FU2-0957-000 1 SPRING, TENSION
7 WC2-5806-000 1 SWITCH, PUSH SW8, J2203
8 FM1-V558-000 4 BOTTLE DOOR DRIVE UNIT
9 FU5-9353-000 4 SCREW, STEPPED, M3
SEE NOTE 1
10 FE8-8675-000 1 LABEL, TONER
SEE NOTE 2

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 102D INTERNAL COMPONENTS 2 (C5840 SERIES)

(J309) (J2272)

SEE FIGURE 194*

SEE FIGURE 627

SEE FIGURE
650*

SEE FIGURE
650*

SEE FIGURE
650" >

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
102D NPN RF INTERNAL COMPONENTS 2 C5840 SERIES
1 FE2-D596-000 1 LEVER, DOOR TOGGLE
2 FU2-2390-000 8 SCREW, STEPPED, M4
3 XA9-2050-000 15 SCREW, SELF-TAPPING, M3
4 FU2-2321-000 1 SPRING, TORSION, GROUNDING
H2
5 FM1-T043-000 1 DRUM HEATER UNIT
100V, 120V
H4
5 FM1-W375-000 1 DRUM HEATER UNIT
230V
6 FU2-0957-000 1 SPRING, TENSION
WC2-5806-000 1 SWITCH, PUSH SW8, J2203
FU5-9353-000 4 SCREW, STEPPED, M3

imageRUNNER ADVANCE DX C5800 Series (CUSA)



2021-11-02

Canon

INTERNAL COMPONENTS 3

Figure 103

SEE FIGURE 460*

5
\

2

SEE FIGURE 775

SEE FIGURE 774

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
103 NPN RF INTERNAL COMPONENTS 3
SW5, SW6, SW7,
1 FM1-B198-010 3 CASSETTE SIZE SENSING ASS'Y
J2111, J2113, J2115
2 XA9-2050-000 15 SCREW, SELF-TAPPING, M3
3 FE2-A295-000 1 BAND, COVER, FRONT

imageRUNNER ADVANCE DX C5800 Series (CUSA)



2021-11-02

Canon

INTERNAL COMPONENTS 4

Figure 104

SEE FIGURE 810*

SEE FIGURE H35

SEE FIGURE H31*

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
104 NPN RF INTERNAL COMPONENTS 4
1 FE4-8808-000 1 ROLLER, RAIL
2 XA9-2050-000 15 SCREW, SELF-TAPPING, M3

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 105 INTERNAL COMPONENTS b

SEE FIGURE 530

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
105 NPN RF INTERNAL COMPONENTS 5
1 FM1-R396-000 1 I.T.B. RAIL ASSEMBLY, FRONT
2 FM1-R397-000 1 I.T.B. RAIL ASSEMBLY, REAR
3 FM1-R398-000 1 REGISTRATION SENSOR UNIT SL1, UN18
4 FM1-U138-000 1 EXHAUST GUIDE UNIT
5 XA9-2050-000 15 SCREW, SELF-TAPPING, M3

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 106 INTERNAL COMPONENTS 6

SEE FIGURE B11*

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
106 NPN RF INTERNAL COMPONENTS 6
1 FE2-F749-000 2 SCREW, STEPPED, M5X6
2 FE2-F750-000 4 SCREW, FIXED, M4
3 XA9-2050-000 2 SCREW, SELF-TAPPING, M3

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 107A MACHINE REAR PLATE 1 (C5870, C5860, (5850 SERIES)

SEE FIGURE
270*

SEE FIGURE
192

e
5(FM115§*Q 5
% 1(42293) [} 5

\
SEE FIGURE |
140* 3

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
C5870, C5860, C5850
107A NPN RF MACHINE REAR PLATE 1
SERIES
1 FM1-B670-000 2 CASSETTE AUTO CLOSE ASSEMBLY
2 FM1-T174-000 1 AC CABLE UNIT SwW2
3 XA9-2050-000 15 SCREW, SELF-TAPPING, M3
4 XA9-2007-000 2 SCREW,B,M4,L8
5 FK4-6850-000 1 FAN FM11, J2293
6 FM1-V105-000 1 F.F.C. CABLE UNIT
7 FK4-4466-000 1 CABLE, FLAT J75, J700

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 107B MACHINE REAR PLATE 1 (C5840 SERIES)

SEE FIGURE
270*

SEE FIGURE
192

(J700)

SEE FIGURE
140*

\
SEE FIGURE
193

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
107B NPN RF MACHINE REAR PLATE 1 C5840 SERIES
1 FM1-B670-000 2 CASSETTE AUTO CLOSE ASSEMBLY
2 FM1-T174-000 1 AC CABLE UNIT Sw2
3 XA9-2050-000 15 SCREW, SELF-TAPPING, M3
4 XA9-2007-000 SCREW,B,M4,L8
5 FK4-4466-000 1 CABLE, FLAT J75, J700

imageRUNNER ADVANCE DX C5800 Series (CUSA)



2021-11-02

Canon

MACHINE REAR PLATE 2

Figure 108

771
\

SEE FIGURE

SEE FIGURE
772

SEE FIGURE
910*

981

962
SEE FIGURE

SEE FIGURE

SEE FIGURE

SEE FIGURE
261*

B
&
/

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
108 NPN RF MACHINE REAR PLATE 2
1 FM1-T157-000 1 1ST TRANSFER GUIDE UNIT
2 XA9-2050-000 15 SCREW, SELF-TAPPING, M3

imageRUNNER ADVANCE DX C5800 Series (CUSA)



2021-11-02

Canon

RIGHT DOOR ASSEMBLY 1

Figure 111

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
111 NPN RF RIGHT DOOR ASSEMBLY 1
1 FM2-C415-000 1 REGISTRATION ROLLER UNIT
2 FB6-6088-000 1 RING, RETAINING
3 FE2-D250-000 1 STOPPER, 2ND TR. GUIDE, FR.
4 FE8-7938-000 2 PIN, RETAINER
5 FE8-7996-000 1 STOPPER, 2ND TR. GUIDE, RR.
6 FL1-7373-000 1 BUSHING, REAR
7 FU2-2426-000 1 GEAR, 17T

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 112 RIGHT DOOR PAPER FEED ASSEMBLY

NOTE : This assembly includes the assemblies shown in Figure 113, 313 and 332

77 (J2830)

(J2812)

(J2261)

(J2813)

(J2281) 4/

(J2901)

N

(J2811)

l‘u""‘ ~_  SEE FIGURE 332

S5

NSO,

Y0
SR

(PS17)
 (J2813)

1

1—— @
(PS16)
(J2281)

%‘(PS1 8) &
(J2261)

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
112 FM1-T011-000 1 RIGHT DOOR PAPER FEED ASSEMBLY SEE NOTE
PS16, PS17, PS18,
1 WG8-5935-000 3 PHOTOINTERRUPTER, RPI-2500
J2261, J2281, J2813
2 FM1-T089-000 1 PRE-REGISTRATION GUIDE ASS'Y
3 FM1-T134-000 1 REVERSE DUPLEXING ASS'Y
4 XA9-2050-000 2 SCREW, SELF-TAPPING, M3

imageRUNNER ADVANCE DX C5800 Series (CUSA)



2021-11-02

Canon

RIGHT DOOR ASSEMBLY 2

Figure 113

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
113 NPN RF RIGHT DOOR ASSEMBLY 2
1 FE2-E059-000 1 LATCH, FRONT
2 FE8-7981-000 1 HANDLE, DOOR, RIGHT
3 FE8-7983-000 1 LATCH, REAR
4 FE8-7987-000 1 RAIL, STOPPER, FRONT
5 XA9-2050-000 6 SCREW, SELF-TAPPING, M3
6 XD9-0335-000 1 PIN, PARALLEL
7 XG9-0795-000 1 BEARING, BALL, L-1060ZZHPOP25L

imageRUNNER ADVANCE DX C5800 Series (CUSA)



2021-11-02

Canon

RIGHT DOOR ASSEMBLY, LOWER

Figure 114

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
114 FM1-R483-010 1 RIGHT DOOR ASSEMBLY, LOWER

imageRUNNER ADVANCE DX C5800 Series (CUSA)



2021-11-02

Canon

CONTROL PANEL ASSEMBLY

Figure 130

—~
[aed
2
=

(J903)

’/ (J963)

Z

TOFIGURE
D11

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
130 FM1-X013-010 1 CONTROL PANEL ASSEMBLY
1 FE3-9169-000 4 CAP
2 FE8-7637-000 1 KEY TOP, SWITCH
3 FK4-6206-000 1 CABLE, CONTROL PANEL SIGNAL J4, J901
4 FK4-2377-000 1 SPEAKER
5 FK4-4895-000 1 CABLE, FLAT CN1, J915
6 FK4-6830-000 1 LCD UNIT
7 FM2-A912-000 1 CONTROL PANEL LED PCB ASSEMBLY UN50
8 FM3-C906-000 1 CONTROL PANEL MAIN PCB ASS'Y UN39

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 140B POWER CORD TERMINAL ASSEMBLY (120V US, CA, LTN)

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
140B NPN RF POWER CORD TERMINAL ASSEMBLY 120V US, CA, LTN

FM1-T168-000

POWER CORD TERMINAL ASSEMBLY

P1,J21, J22, J81,
J301, J313, J6010

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 140C POWER CORD TERMINAL ASSEMBLY (230V LTN, EUR, AU, SG,
KR)

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
230V LTN, EUR, AU,
140C NPN RF POWER CORD TERMINAL ASSEMBLY SG. KR
INL1, J21, J22, J81,
1 FM1-V101-000 1 POWER CORD TERMINAL ASSEMBLY
J301, J313, J601
P1
2 FK4-1390-000 1 CORD, POWER
230V LTN, EUR, KR
P1
3 FK4-5631-000 1 CORD, POWER, 230V
230V AU, SG

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

Figure 191 FRONT FAN ASSEMBLY

(J2208)
5 | ; (FM4) 4
— : (J2202)
. H \
Q

(J2209)

Eﬁ (UN19)
¥ (J2209)

imageRUNNER ADVANCE DX C5800 Series (CUSA)

2021-11-02



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
191 NPN RF FRONT FAN ASSEMBLY
1 FE2-B634-000 1 LEVER, LOCK
2 FE3-0817-000 1 ARM, INTERLOCK, 1
3 FE3-0849-000 1 ARM, INTERLOCK, 2
FM4, J2202
4 FK4-3647-000 1 FAN
C5840 SERIES
FM4, J2202
4 FK4-5743-000 1 FAN C5870, C5860, C5850
SERIES
5 FM2-A974-000 1 CABLE, ENVIRONMENT SENSOR SW3, J2208, J2209
6 WP2-5473-000 1 SENSOR, HUMIDITY,HSU-08FDB2A UN19, J2209

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 192 REAR FAN ASSEMBLY

(J2256)

[

(J2266)

/ T (FM8)
(J2271) (J2271) (J2271)

(J208)
(J202)
(J203)
(J201)

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
192 NPN RF REAR FAN ASSEMBLY
1 FK2-7286-000 1 FAN FM1, J2270
2 FK4-3648-000 1 FAN FM8, J2271

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 193 FAN ASSEMBLY (C5870, (5860, C5850 SERIES)

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
C5870, C5860, C5850
193 NPN RF FAN ASSEMBLY
SERIES
1 FK4-4956-000 1 FAN FMS5, J2120
2 FM1-W736-000 1 TONER FILTER ASSEMBLY [DP]

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

Figure 194A SIDE END COOLING FAN ASS"Y (C5870, (5860, (5850
SERIES)

2

(PS39)
(J2221)

(FM7)  #
(J2224) °

(FM14) &f
(2227

imageRUNNER ADVANCE DX C5800 Series (CUSA)

2021-11-02



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
M22, J2225
194A FM1-V145-000 1 SIDE END COOLING FAN ASS'Y C5870, C5860, C5850
SERIES
FM6, FM7, FM13,
1 FK4-3647-000 4 FAN FM14, J2223, J2224,
J2226, J2227
2 WG8-5783-000 1 IC,PHOTO-INTERRUPTER,LG248NL1A PS39, J2221
3 FL1-3966-000 1 FILTER, AIR [DP]

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 194B SIDE END COOLING FAN ASS'Y (C5840 SERIES)

2

(PS39)
B e

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
M22, J2225
194B FM1-V144-000 1 SIDE END COOLING FAN ASS'Y
C5840 SERIES
1 FK4-3647-000 2 FAN FM6, FM7, J25, J26
2 WG8-5783-000 1 IC,PHOTO-INTERRUPTER,LG248NL1A PS39, J27

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

Figure 250 MAIN DRIVE ASSEMBLY
PS41
7 EJ2211))
(J2416) % g X
(UN15) RNz
(J2550) (J2282) (JZ;IZ()‘%ZN R (J255§) @/}W/
(12552) (12283) PR \ E
(J2554) 50 s = (UN14)
(J2556) : “2552)@ 8 6
_ 2,9\ @/<UN56>
7 5 I (J2418)

(UN13)
(J2554) @

(UN12)
(J2556)

£

s Lo (J2090)
(J2423)

(J225)
(J215)

(J2091)
(J2092)

(J2093)

imageRUNNER ADVANCE DX C5800 Series (CUSA)

2021-11-02



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
250 NPN RF MAIN DRIVE ASSEMBLY
1 FM1-X281-000 1 MAIN DRIVE GEAR BOX ASSEMBLY C5840 SERIES
C5870, C5860, C5850
1 FM2-E047-000 1 MAIN DRIVE GEAR BOX ASSEMBLY
SERIES
M1, M2, M27, J2100,
2 FK4-4725-000 3 MOTOR, DC BRUSHLESS
J2213, J2423
3 FM2-U944-000 1 MOTOR, STEPPING, DC M23, J2210
M3, M4, M5, M6,
4 FM2-U945-000 4 MOTOR, STEPPING, DC J2090, J2091, J2092,
J2093
UN12, UN13, UN14,
UN15,
5 FM2-A915-000 4 PRE-EXPOSURE LED PCB ASS'Y
J2550, J2552, J2554,
J2556
6 FM2-K997-000 1 SENSOR UNIT, TEMPERATURE UNS6, J2416
7 WG8-5935-000 1 IC, PHOTO INTERRUPTER PS41, J2211
UN54
8 FM2-X966-000 1 DRUM DRIVER PCB ASS'Y C5870, C5860, C5850
SERIES
UN54
8 FM2-X967-000 1 DRUM DRIVER PCB ASS'Y

C5840 SERIES

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 261A PAPER PICK-UP DRIVE ASSEMBLY (C5870 SERIES)

(J2294)
) (J2295)

) (J2313)

(J2314)
(J2315)

2
(Psas) |
(J2294) o N

(J312)

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
261A FM1-U659-000 1 PAPER PICK-UP DRIVE ASSEMBLY C5870 SERIES
1 FE4-5133-000 1 LIMITTER, TORQUE
2 WGB8-5783-000 1 IC,PHOTO-INTERRUPTER,LG248NL1A PS48, J2294
3 FM1-V376-000 1 MOTOR UNIT M13, J2313
4 FM1-V375-000 1 EXTRACTION DRIVE MOTOR ASS'Y
M12, M14, M19,
5 FM1-R502-000 3 MOTOR UNIT
J2295, J2314, J2315
6 FM1-T500-000 1 M.P. PICK UP DRIVE MOTOR ASS'Y
7 FM1-T499-000 2 DRIVE MOTOR UNIT

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 261B PAPER PICK-UP DRIVE ASSEMBLY (C5840 SERIES)

2

(J322)

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
261B FM1-R485-000 1 PAPER PICK-UP DRIVE ASSEMBLY C5840 SERIES
1 FE4-5133-000 1 LIMITTER, TORQUE
2 WGB8-5783-000 1 IC,PHOTO-INTERRUPTER,LG248NL1A PS48, J320
M12, M13, M19, J321,
3 FM2-U945-000 3 MOTOR, STEPPING, DC
J322, J323

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 261C PAPER PICK-UP DRIVE ASSEMBLY (C5860, (5850 SERIES)

(J2359)
) (J2357)

(256) | (J2354)

(J2384)

2
(Psas) |
(J2359) o %

(J2360) @& o
----------------- /lvms)g\{;E?J
v\% @

(M12)

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
C5860, C5850
261C FM1-R486-000 1 PAPER PICK-UP DRIVE ASSEMBLY
SERIES
1 FE4-5133-000 1 LIMITTER, TORQUE
2 WG8-5783-000 1 IC,PHOTO-INTERRUPTER,LG248NL1A PS48, J2359
M12, M13, M14, M19,
3 FM1-R502-000 4 MOTOR UNIT J2354, J2356, J2357,
J2384
4 FM1-V374-000 1 EXTRACTION DRIVE MOTOR ASS'Y
5 FM1-T500-000 1 M.P. PICK UP DRIVE MOTOR ASS'Y
6 FM1-T499-000 2 DRIVE MOTOR UNIT

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 262A REG. DUPLEXING DRIVE ASSEMBLY (C5870 SERIES)

(M16)

(J2264)
/

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
262A FM1-V567-000 1 REG. DUPLEXING DRIVE ASSEMBLY C5870 SERIES
M15, M16, J2263,
1 FM1-U676-000 2 MOTOR UNIT

J2264

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 262B REG. DUPLEXING DRIVE ASSEMBLY (C5840 SERIES)

(M16) /1
(J2298)
& &
2/// h \\\O
\\\\
&,
S
B!
\L/ \J\

(M15)

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
262B FM1-V565-000 1 REG. DUPLEXING DRIVE ASSEMBLY C5840 SERIES
M15, M16, J2297,
1 FM2-U945-000 2 MOTOR, STEPPING, DC
J2298
2 XA9-2050-000 4 SCREW, SELF-TAPPING, M3

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

Figure 262C

REG.

2021-11-02

DUPLEXING DRIVE ASSEMBLY (C5860, C5850 SERIES)

2

@

/ >
Ny

/ ’ N ' .
z2%0) g/?@ 7N
U y oz
s R

(M16)
(J2296)

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
C5860, C5850
262C FM1-V566-000 1 REG. DUPLEXING DRIVE ASSEMBLY
SERIES
1 FM1-U676-000 1 MOTOR UNIT M15, J2256
2 FM1-X253-000 1 MOTOR UNIT M16, J2296

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 270A BOTTLE DRIVE ASSEMBLY (C5870, (5860, C5850 SERIES)

(J2140)
(J2150)
(J2740)
(J2750)

(J2151)(J2152)(J2153)(J2154)
(J2147)(J2145)(J2143)(J2141)

il

(J2153)

(J2152)
(J2151) £ (J2146)
(J2752) (J2144)

(J2142)
(J2751)

(M10)
(J2751)

(PS47)
(J2154)

"% (PS38)

\ 5 T\ U onsey 62141
AR F o (J2752)

(UN34) (42145)
(J2152)

/ ! (UN33) Le
5 ; (J2153)§
(PS35)
(J2147)

&

TR

(J209)
(J207)

(J2158)

(J2740)

(J2150)

(J2140) (71)
W72)

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
C5870, C5860, C5850
270A NPN RF BOTTLE DRIVE ASSEMBLY
SERIES
1 FK4-3647-000 1 FAN FM12, J2158
2 FM1-V557-000 4 SUPPLY DRIVE ASSEMBLY
M7, M8, M9, M10,
3 FM1-U142-000 4 BOTTLE MOTOR UNIT J2142, J2144, J2146,
J2751
PS35, PS36, PS37,
PS38, PS44, PS45,
PS46, PS47, J2141,
4 WG8-5935-000 8 IC, PHOTO INTERRUPTER
J2143, J2145, J2147
J2151, J2152, J2153
J2154
5 XA9-2050-000 15 SCREW, SELF-TAPPING, M3

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 270B BOTTLE DRIVE ASSEMBLY (C5840 SERIES)

(J2140)
(J2150)
(J2740)
,02750)
(1265 ;) (J2647)(J2145)(J2143)(J2141)
(J2152)
(J2151) ®(J2646)
(J2752) (J2144)
(J2142)
(J2751)
M10) o
(J2648)
5 ‘ /
(M9) \

w2142y 2|

) & "% (PS38)
(UN36) (214D
(2752

\ 5 M)
e | ¢

(UN34) (42145)
(J2152)

% : N o, ‘ ‘
UN33
5 : Estss)) g
: (PS35)
(J2647)

(J209)
(J207)
(J2158)

(J2740)

(J2150)

(J2140) (71)
W72)

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
270B NPN RF BOTTLE DRIVE ASSEMBLY C5840 SERIES
1 FK4-3647-000 1 FAN FM12, J2158
2 FM1-T077-000 4 SUPPLY DRIVE ASSEMBLY
M7, M8, M9, M10,
3 FM1-U142-000 4 BOTTLE MOTOR UNIT J2142, J2144, J2647,
J2648
PS35, PS36, PS37,
4 WG8-5935-000 4 IC, PHOTO INTERRUPTER PS38, J2141, J2143,
J2145, J2647
5 XA9-2050-000 15 SCREW, SELF-TAPPING, M3

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

Figure 280 FIXING DRIVE ASSEMBLY

7

2

(M20)
(J2273)

imageRUNNER ADVANCE DX C5800 Series (CUSA)

2021-11-02



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
280 FM1-R504-000 1 FIXING DRIVE ASSEMBLY
1 FK4-4728-000 1 MOTOR, DC M20, J2273
2 WGB8-5783-000 1 PHOTOINTERRUPTER, LG248NL1A PS34, J2275
3 XA9-2008-000 3 SCREW,M3X4

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

Figure 290 LIFTER DRIVE ASS'Y
oo
(J2034)@ 1 /,' " >

(J2031)

(PS4)

(J2031)
///1

2%, (PSB)

(J2033)

imageRUNNER ADVANCE DX C5800 Series (CUSA)

2021-11-02



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
290 FM1-R500-000 1 LIFTER DRIVE ASS'Y M11, J2034
PS4, PS6, J2031,
1 WG8-5783-000 2 PHOTOINTERRUPTER, LG248NL1A 12033

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

Figure 310A PAPER PICK-UP ASSEMBLY, 1 (C5870, (5860, (€5850
SERIES)

(J2024)
1 TN
(J2024%

(J2036)

(PS13)
(J2800)

\)

(J2022)
(J2021)

(J2023)

imageRUNNER ADVANCE DX C5800 Series (CUSA)

2021-11-02



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
C5870, C5860, C5850
310A FM1-R492-000 1 PAPER PICK-UP ASSEMBLY, 1
SERIES
PS9, PS11, PS13,
1 WG8-6233-000 3 PHOTO-INTERRUPTER
J2021, J2024, J2801
2 FE2-D339-000 1 LEVER, PAPER YES/NO DETECT
3 FE4-4426-000 1 ROLLER, EXTRACTION
4 FL1-5821-000 1 ONE-WAY CLUTCH ASSEMBLY
5 FL4-0150-000 1 ROLLER, SEPARATION [DP]
6 FL4-0387-000 1 COUPLING, ONE-WAY, LARGE
7 FL4-0388-000 1 GEAR, 23T
8 FL4-0762-000 1 ROLLER, PAPER PICK-UP [DP]
9 FL4-0763-000 1 ROLLER, PAPER FEED [DP]
10 FL4-1087-000 1 GEAR, 19T
11 FE4-9853-000 1 LIMITTER, TORQUE
12 FL0-2465-000 1 SHEET, ROLLER GUIDE 1
13 FLO0-3585-000 1 SHEET, ROLLER GUIDE 2
PS1, PS7, J2022,
14 WG8-5783-000 2 IC,PHOTO-INTERRUPTER,LG248NL1A 12023
15 XA9-2050-000 10 SCREW, SELF-TAPPING, M3

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 310B PAPER PICK-UP ASSEMBLY, 1 (C5840 SERIES)

1

0
\\
ﬁéféﬁ

(J2800)

ﬁ’\%)

(J2022)
(J2021)

(J2023)

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
310B FM1-R491-000 1 PAPER PICK-UP ASSEMBLY, 1 C5840 SERIES
PS11, PS13, J2021,
1 WG8-6233-000 2 PHOTO-INTERRUPTER
J2801
2 FE2-D339-000 1 LEVER, PAPER YES/NO DETECT
3 FE4-4426-000 1 ROLLER, EXTRACTION
4 FL1-5821-000 1 ONE-WAY CLUTCH ASSEMBLY
5 FL4-0150-000 1 ROLLER, SEPARATION [DP]
6 FL4-0387-000 1 COUPLING, ONE-WAY, LARGE
7 FL4-0388-000 1 GEAR, 23T
8 FL4-0762-000 1 ROLLER, PAPER PICK-UP [DP]
9 FL4-0763-000 1 ROLLER, PAPER FEED [DP]
10 FL4-1087-000 1 GEAR, 19T
1" FE4-9853-000 1 LIMITTER, TORQUE
12 FL0-2465-000 1 SHEET, ROLLER GUIDE 1
13 FLO0-3585-000 1 SHEET, ROLLER GUIDE 2
PS1, PS7, J2022,
14 WG8-5783-000 2 IC,PHOTO-INTERRUPTER,LG248NL1A 12023
15 XA9-2050-000 10 SCREW, SELF-TAPPING, M3

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

Figure 311A PAPER PICK-UP ASSEMBLY, 2 (C5870, (5860, (€5850
SERIES)

3 i-’czg ;ﬁ\%
(PS12)]
(J2026) |

4

\Z

€y ]
(PS10)
(J2029)

(2026)

(J2026)

(J2028)

(J2029)

imageRUNNER ADVANCE DX C5800 Series (CUSA)

2021-11-02



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
C5870, C5860, C5850
311A FM1-R495-000 1 PAPER PICK-UP ASSEMBLY, 2
SERIES
PS10, PS12, J2026,
1 WG8-6233-000 2 PHOTO-INTERRUPTER
J2029
2 FE2-D339-000 1 LEVER, PAPER YES/NO DETECT
3 FE4-4426-000 1 ROLLER, EXTRACTION
4 FL1-5821-000 1 ONE-WAY CLUTCH ASSEMBLY
5 FL4-0150-000 1 ROLLER, SEPARATION [DP]
6 FL4-0387-000 1 COUPLING, ONE-WAY, LARGE
7 FL4-0388-000 1 GEAR, 23T
8 FL4-0762-000 1 ROLLER, PAPER PICK-UP [DP]
9 FL4-0763-000 1 ROLLER, PAPER FEED [DP]
10 FE4-9853-000 1 LIMITTER, TORQUE
11 FL0-2465-000 1 SHEET, ROLLER GUIDE 1
12 FLO0-3585-000 1 SHEET, ROLLER GUIDE 2
PS2, PS8, J2027,
13 WG8-5783-000 2 IC,PHOTO-INTERRUPTER,LG248NL1A

J2028

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 311B PAPER PICK-UP ASSEMBLY, 2 (C5840 SERIES)

Cp

J22) S

(J10)
(J14)

(J19)

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
311B FM1-R494-000 1 PAPER PICK-UP ASSEMBLY, 2 C5840 SERIES
1 WG8-6233-000 1 PHOTO-INTERRUPTER PS12, J19
2 FE2-D339-000 1 LEVER, PAPER YES/NO DETECT
3 FE4-4426-000 1 ROLLER, EXTRACTION
4 FL1-5821-000 1 ONE-WAY CLUTCH ASSEMBLY
5 FL4-0150-000 1 ROLLER, SEPARATION [DP]
6 FL4-0387-000 1 COUPLING, ONE-WAY, LARGE
7 FL4-0388-000 1 GEAR, 23T
8 FL4-0762-000 1 ROLLER, PAPER PICK-UP [DP]
9 FL4-0763-000 1 ROLLER, PAPER FEED [DP]
10 FE4-9853-000 1 LIMITTER, TORQUE
1" FL0-2465-000 1 SHEET, ROLLER GUIDE 1
12 FL0-3585-000 1 SHEET, ROLLER GUIDE 2
13 WG8-5783-000 2 IC,PHOTO-INTERRUPTER,LG248NL1A PS2, PS8, J10, J14

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 313 VERTICAL PATH LOWER GUIDE ASSY

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
313 NPN RF VERTICAL PATH LOWER GUIDE ASS'Y
1 FL1-3979-000 1 ROLLER, DELIVERY ENT. DRIVE
2 FU2-2397-000 1 GEAR, 21T

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 315 MULT! PAPER PICK-UP TRAY ASS'Y

F\\\\\\\\\\\\ ﬁé%%

M \ s (PS30) gER—_q
P 2 (J2329)

o N L

(UN20)

(J2328)
22—

(J2326)
(J2329) \\\
(J2328) /

(J2327)

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
315 FM1-R497-000 1 MULTI PAPER PICK-UP TRAY ASS'Y
PS29, PS30, J2326,
1 WG8-5935-000 2 IC, PHOTO INTERRUPTER
J2329
2 FM1-C998-000 1 PAPER WIDTH SENSING PCB ASS'Y UN20, J2328

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 316 MULT| PAPER PICK-UP ASSEMBLY

(J2320)

(J2902)
gi325)
\\m
(J2323)
C
. ==

£ ——11

(PS28)
(J2324)

(PS25)
(J2902)

(J2322)

\E}Q\\/g &g (Ps33)

- \(J2321)
10

(J2321)

(J2324) (J2400)
(J2400)

-

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
316 FM1-R484-000 1 MULTI PAPER PICK-UP ASSEMBLY
1 FE4-5020-000 1 ROLLER, MULTI EXTRACTION
2 FE4-5133-000 1 LIMITTER, TORQUE
3 FL1-3794-000 1 GEAR, 19T
4 FLO0-2465-000 1 SHEET, ROLLER GUIDE 1
5 FL0-3585-000 1 SHEET, ROLLER GUIDE 2
6 FL4-0762-000 2 ROLLER, PAPER PICK-UP [DP]
7 FL1-3762-010 1 ROLLER, SEPARATION [DP]
8 FL4-0370-000 1 GEAR, 34T/17T
9 FL4-0404-000 1 GEAR, 23T
PS32, PS33, J2321,
10 WG8-5783-000 2 IC,PHOTO-INTERRUPTER,LG248NL1A 12322
PS25, PS28, PS31,
1" WGB8-5935-000 3 IC, PHOTO INTERRUPTER
J2324, J2325, J2902
12 XA9-2050-000 15 SCREW, SELF-TAPPING, M3
13 XD9-0333-000 2 PIN, PARALLEL

imageRUNNER ADVANCE DX C5800 Series (CUSA)



2021-11-02

Canon

SECONDARY TRANSFER ASS'Y

Figure 320

g /

S e

/

&,

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
320 FM1-T031-000 1 SECONDARY TRANSFER ASS'Y SEE NOTE
1 FM2-D557-000 1 2ND TRNSFR. OUTER ROLLER SET [DP]
2 FM1-T033-000 2 2ND TRNSFR. BUSHING ASS'Y
3 FE2-B561-000 18 ROLLER

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 321A REGISTRATION ASSEMBLY (C5870, (5860, C5850 SERIES)

(J2280) 1 DK
® @\\ (J310) %@ 2 >
(J2285)\@\ / L o
(PS14) % k N
(J2280)/
3

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
C5870, C5860, C5850
321A FM1-T088-000 1 REGISTRATION ASSEMBLY
SERIES
1 FE8-8486-000 1 FLAG, SENSOR
2 FU2-0088-000 1 SPRING, TORSION
3 WG8-5935-000 1 IC, PHOTO INTERRUPTER PS14, J2280
4 WG8-6233-000 1 PHOTO-INTERRUPTER PS15, J2286

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 321B REGISTRATION ASSEMBLY (C5840 SERIES)

[ o 2 %
(Jzzasfﬁwy/
o e

/

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
321B FM1-T087-000 1 REGISTRATION ASSEMBLY C5840 SERIES
1 FE8-8486-000 1 FLAG, SENSOR
2 FU2-0088-000 1 SPRING, TORSION
3 WG8-5935-000 1 IC, PHOTO INTERRUPTER PS14, J2280

imageRUNNER ADVANCE DX C5800 Series (CUSA)



2021-11-02

Canon

DUPLEXING GUIDE ASSEMBLY

Figure 332

(PS43)

Sy

1

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
332 NPN RF DUPLEXING GUIDE ASSEMBLY
PS27, PS43, J2812
1 WG8-5935-000 2 PHOTOINTERRUPTER, RPI-2500

J2901

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 350 PAPER DELIVERY ASSEMBLY

/ (M18)
/ (J2250)

(J2266)
(J2254)

(J2250)

(J2264)
(J2262)

(J2265)°

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
350 FM1-T681-000 1 PAPER DELIVERY ASSEMBLY
M17, M18, J2250,
1 FM2-U945-000 2 MOTOR, STEPPING, DC
J2264
PS21, PS23, J2254,
2 WG8-5935-000 2 IC, PHOTO INTERRUPTER
J2262
3 FM1-T125-000 1 SOLENOID ASSEMBLY SL2, J2263
4 FM1-U133-000 1 PAPER DELIVERY FLAPPER ASS'Y
5 FU2-2397-000 2 GEAR, 21T
6 XA9-2050-000 4 SCREW, SELF-TAPPING, M3
7 XA9-2008-000 1 SCREW,M3X4
8 XG9-0783-000 1 BEARING, BALL, L-10602Z
9 XG9-0797-000 1 BEARING, BALL, LF-1260ZZRPOP25

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 351 FIRST PAPER DELIVERY ASSEMBLY

(PS20)

% (J2260)
"B B o
. @\@%@7 (J2265) ; "
: §/ s (J2260)
Sy =

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
351 NPN RF FIRST PAPER DELIVERY ASSEMBLY
1 WG8-5935-000 1 PHOTOINTERRUPTER, RPI-2500 PS20, J2260

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

Figure 352 SECOND PAPER DELIVERY ASSEMBLY

(PS22)

@ (J2253)
1=

(Jzzs?f g

@7(&253)

(J2263)

e

imageRUNNER ADVANCE DX C5800 Series (CUSA)

2021-11-02



Canon 2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
352 NPN RF SECOND PAPER DELIVERY ASSEMBLY
1 WG8-5935-000 1 PHOTOINTERRUPTER, RPI-2500 PS22, J2253

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 460A LASER SCANNER ASSEMBLY (C5870 SERIES)

(UN10)

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
M26, TH8, UN9,
UN10, J700, J702,
460A FM1-R536-000 1 LASER SCANNER ASSEMBLY
J703, J720

C5870 SERIES

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 460B LASER SCANNER ASSEMBLY (C5840 SERIES)

(UN10)

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
M24, TH8, UN9,
UN10, J700, J702,
460B FM1-R530-000 1 LASER SCANNER ASSEMBLY
J703, J720

C5840 SERIES

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 460C LASER SCANNER ASSEMBLY (C5860, (5850 SERIES)

(UN10)

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
&KEY | PART NUMBER QTty DESCRIPTION
N IREMARKS
NO.
K
M24, TH8, UN9,
UN10, J700, J702,
460C FM1-R538-000 1 |LASER SCANNER ASSEMBLY J703, J720
C5860, C5850
SERIES

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 530 INTER. TRANSFER BELT ASSEMBLY

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
530 NPN RF INTER. TRANSFER BELT ASSEMBLY
1 FE8-7290-000 1 HOLDER, CLEANER GEAR
2 FE8-7296-000 1 PLATE, CLEANER LINK
3 XG9-0793-000 2 BEARING, BALL, L-1680KKRPOP25L
4 FM1-R400-000 1 INTER. TRANSFER BELT ASS'Y [DP]
5 FL1-3540-000 1 BELT, INTERMEDIATE TRANSFER
6 FE8-6888-000 1 ROLLER, 2ND TRANSFER, INNER
UN74, UN75
7 FM1-R475-000 1 TRANSFER CLEANER ASS'Y [DP]
FU2-2360-000 1 GEAR, 17T
XD9-0335-000 1 PIN, PARALLEL
10 XD9-0396-000 2 RETAINING RING (E-TYPE)

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 627 BOTTLE BASE ASSEMBLY, BLACK

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
627 NPN RF BOTTLE BASE ASSEMBLY, BLACK
1 FM1-T093-000 1 TONER BOTTLE MOUNT(BK) UNIT
2 XA9-2050-000 2 SCREW, SELF-TAPPING, M3

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 628 BOTTLE BASE ASSEMBLY, COLOR

%

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
628 NPN RF BOTTLE BASE ASSEMBLY, COLOR
1 FM1-T075-000 3 BOTTLE BASE ASSEMBLY, COLOR
2 XA9-2050-000 6 SCREW, SELF-TAPPING, M3

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 640 DEVELOPING ASSEMBLY

4

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
640 NPN RF DEVELOPING ASSEMBLY
UNG63, TS1, UN21
1 FM1-R553-000 1 DEVELOPING ASSEMBLY, Y [DP]
UNG4, TS2, UN22
2 FM1-R552-000 1 DEVELOPING ASSEMBLY, M [DP]
NG5, TS3, UN2
3 FM1-R551-000 1 DEVELOPING ASSEMBLY,C :JDP?SY 53, UN23
UNG66, TS4, UN24
4 FM1-R550-000 1 DEVELOPING ASSEMBLY, BK

[DP]

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 650B TRAY DRUM ASSEMBLY

NOTE 1 : Several kinds of labels are attached on the board for the parts of Key No. 4. NOTE 2 : Several kinds of labels are attached on the
board for the parts of Key No. 5. NOTE 3 : The part shown with key No. b is same as Fig-Key No. 100-22 and 102-10.

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
650B NPN RF TRAY DRUM ASSEMBLY
1 FM1-R570-010 4 DRUM TRAY UNIT
UNS59, UN60, UN6G1,
2 FM2-M958-000 4 RECTIFIER PCB ASSEMBLY UN62
3 FL1-3930-000 4 SHUTTER
4 FE2-F415-000 1 LABEL, DRUM NUMBER SEE NOTE 1
SEE NOTE 2
5 FE8-8675-000 1 LABEL, TONER
SEE NOTE 3

imageRUNNER ADVANCE DX C5800 Series (CUSA)



2021-11-02

Canon

CONTAINER, WASTE TONER, WT-202

Figure 770

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
770 FM1-A606-050 1 CONTAINER, WASTE TONER, WT-202 [DP]
1 FLO-7007-000 1 WINDOW, WASTE TONER CASE

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

Figure 771

WASTE TONER DRIVE ASS' Y, FRONT

P
&1 >
SO
SO
.\\\\\ 5
N
S
AN /
\\\»
\\\\_\
.
\\
\\\QI:\
N \\
SO .
-
\Q\

imageRUNNER ADVANCE DX C5800 Series (CUSA)

2021-11-02



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
771 NPN RF WASTE TONER DRIVE ASS'Y, FRONT
1 FM1-R562-000 1 WASTE TONER DRIVE ASS'Y, FRONT
2 FE2-R776-000 1 SHAFT, TRANSMISSION

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

Figure 772 WASTE TONER DRIVE ASS' Y, REAR

(J223)
Sy (4217)
(J224)

(J2124)

J6081
(|701) ( lz

(J2111)

(J2115)

(J2122) 7
(UN37)
(J2113) (J2122)

imageRUNNER ADVANCE DX C5800 Series (CUSA)

2021-11-02



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
M21, UN37, J2121,
772 FM1-R560-000 1 WASTE TONER DRIVE ASS'Y, REAR

J2122

WC2-5806-000

SWITCH, PUSH

SW10, J2123

imageRUNNER ADVANCE DX C5800 Series (CUSA)



2021-11-02

Canon

WASTE TONER FEED ASSEMBLY

Figure 773

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
773 FM1-R563-000 1 WASTE TONER FEED ASSEMBLY

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 774 INTERDED |ATE FEED DRIVE ASS'Y

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
774 FM1-R564-000 1 INTERDEDIATE FEED DRIVE ASS'Y

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 775 INTERDED |ATE FEED ASS'Y

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
775 FM1-R565-000 1 INTERDEDIATE FEED ASS'Y

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 810C FIXING ASSEMBLY, FX-207 (120V C5870, (C5860, C5850
SERIES)

(J5016)

i

(J5012)

(J5018)

(J5017)

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
120V
810C FM1-R518-000 1 FIXING ASSEMBLY, FX-207 C5870, C5860, C5850
SERIES [DP]
1 XG9-0875-000 2 BEARING, BALL, NS P0 16MM
2 FE8-7461-000 1 ROLLER, PRESSURE
3 WG8-5783-000 1 IC,PHOTO-INTERRUPTER,LG248NL1A PS19, J2231
4 FM1-R510-000 1 INNER PAPER DELIVERY UNIT
5 FM1-R511-000 1 ENTRANCE GUIDE UNIT
6 FM1-R512-000 1 FUSER ONE-WAY GEAR UNIT
H1, TH1, TH2, TH3,
TH4, TH5, TH6, TP1,
7 FM2-C647-000 1 FIXING FILM ASSEMBLY

UNS38, J2231, J2232,
J2233, J5012, J5016

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 810D FIXING ASSEMBLY, FX-205 (120V C5840 SERIES)

(PS19)

(J2231);%7’@\

e

(J5007)

g
g{&] (J5012)

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
120V
810D FM1-R517-000 1 FIXING ASSEMBLY, FX-205
©5840 SERIES [DP]
1 XG9-0875-000 2 BEARING, BALL, NS P0 16MM
2 FE8-7461-000 1 ROLLER, PRESSURE
3 WG8-5783-000 1 IC,PHOTO-INTERRUPTER,LG248NL1A PS19, J2231
4 FM1-R510-000 1 INNER PAPER DELIVERY UNIT
5 FM1-R511-000 1 ENTRANCE GUIDE UNIT
6 FM1-R512-000 1 FUSER ONE-WAY GEAR UNIT
H1, TH1, TH2, TH3,
TH4, TH5, TH6, TP1,
7 FM2-C213-000 1 FIXING FILM ASSEMBLY

UNS38, J2231, J2232,
J2233, J5007, J5012

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 810E FIXING ASSEMBLY, FX-207 (230V (5870, 60, 50 SERIES)

TN
(J2231);%7’@\

3
o= .
QZ‘?@\: {><f

(J5016)

(J5018) (J5012)

(J5017)

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
230V
810E FM1-R520-000 1 FIXING ASSEMBLY, FX-207 C5870, C5860, C5850
SERIES[DP]
1 XG9-0875-000 2 BEARING, BALL, NS P0 16MM
2 FE8-7461-000 1 ROLLER, PRESSURE
3 WG8-5783-000 1 IC,PHOTO-INTERRUPTER,LG248NL1A PS19, J2231
4 FM1-R510-000 1 INNER PAPER DELIVERY UNIT
5 FM1-R511-000 1 ENTRANCE GUIDE UNIT
6 FM1-R512-000 1 FUSER ONE-WAY GEAR UNIT
H1, TH1, TH2, TH3,
TH4, TH5, TH6, TP1,
7 FM2-C648-000 1 FIXING FILM ASSEMBLY

UNS38, J2231, J2232,
J2233, J5012, J5016

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 810F FIXING ASSEMBLY, FX-205 (C5840 SERIES)

(PS19)

(J2231);%7’@\

e

(J5007)

g
g{&] (J5012)

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
230V
810F FM1-R519-000 1 FIXING ASSEMBLY, FX-205
©5840 SERIES [DP]
1 XG9-0875-000 2 BEARING, BALL, NS P0 16MM
2 FE8-7461-000 1 ROLLER, PRESSURE
3 WG8-5783-000 1 IC,PHOTO-INTERRUPTER,LG248NL1A PS19, J2231
4 FM1-R510-000 1 INNER PAPER DELIVERY UNIT
5 FM1-R511-000 1 ENTRANCE GUIDE UNIT
6 FM1-R512-000 1 FUSER ONE-WAY GEAR UNIT
H1, TH1, TH2, TH3,
TH4, TH5, TH6, TP1,
7 FM2-C214-000 1 FIXING FILM ASSEMBLY

UNS38, J2231, J2232,
J2233, J5007, J5012

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 900 CONTROLLER BOX ASSEMBLY

NOT SERVICE PART

SEE FIGURE T20

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
900 NPN RF CONTROLLER BOX ASSEMBLY
1 FE3-9178-000 1 CAP
2 FK4-5700-000 1 CABLE, FLAT Nkl
3 FK4-6208-000 1 CABLE, SSD J16, J17
4 FM1-W520-000 1 SSD UNIT
5 QM7-4472-000 1 WIRELESS LAN BOARD ASS'Y
501 XZ1-1301-005 4 SPACER

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

Figure 910C POWER SUPPLY ASSEMBLY (120V C5870, €b860, (5850
SERIES)
g
(J6080)
S
(J200) (J8120)
(J608)
(J8130)
(J300)
(J5009)
(J816)
811)
U813 (ja1)
(J610)
(FM3) ]

(J8120)

imageRUNNER ADVANCE DX C5800 Series (CUSA)

2021-11-02



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
UN3
120V
910C FM1-U685-000 1 POWER SUPPLY ASSEMBLY
C5870, C5860, C5850
SERIES
1 FK2-7286-000 1 FAN FMS3, J8120
2 FM1-T160-000 1 AC DRIVER PCB ASSEMBLY UN2

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 910D POWER SUPPLY ASSEMBLY (120V C5840 SERIES)

(J6080)
Sy
(J200) (J8120)
(J608)
(J300)
(J5009)

(J816)

(J811)
(813) (512

(J6061) {
(J6051) | [T

(J801)

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
UN3
910D FM1-U684-000 1 POWER SUPPLY ASSEMBLY 120V
C5840 SERIES
1 FK2-7286-000 1 FAN FM3, J8120
2 FM1-T159-000 1 AC DRIVER PCB ASSEMBLY UN2

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 910E POWER SUPPLY ASSEMBLY (230V)

(J6080)

S

(J200) (J8120)

(J608)

(J300)

(J816)

(J811)

(J6061) 7%
weo51) H

(J801)

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
UN3
910E FM1-U686-000 1 POWER SUPPLY ASSEMBLY 230V
1 FK2-7286-000 1 FAN FM3, J8120
2 FM1-U681-000 1 AC DRIVER PCB ASSEMBLY UN2

imageRUNNER ADVANCE DX C5800 Series (CUSA)



2021-11-02

Canon

MAIN CONTROLLER PCB ASSEMBLY

Figure 930B

NOT SERVICE PART

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
930B NPN RF MAIN CONTROLLER PCB ASSEMBLY
UN41
1 FM2-L834-000 1 MAIN CONTROLLER PCB ASSEMBLY
230V C5870 SERIES
UN41
1 FM2-L841-000 1 MAIN CONTROLLER PCB ASSEMBLY
120V C5870 SERIES
UN41
1 FM2-L842-000 1 MAIN CONTROLLER PCB ASSEMBLY
C5860 SERIES
UN41
1 FM2-L843-000 1 MAIN CONTROLLER PCB ASSEMBLY
C5850 SERIES
UN41

FM2-L844-000

MAIN CONTROLLER PCB ASSEMBLY

C5840 SERIES

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 962 PAPER FEED DRIVER PCB ASSEMBLY

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
962 NPN RF PAPER FEED DRIVER PCB ASSEMBLY

FM2-X968-000

PAPER FEED DRIVER PCB ASSEMBLY

UN1
C5870, C5860, C5850
SERIES

FM2-X969-000

PAPER FEED DRIVER PCB ASSEMBLY

UN1
C5840 SERIES

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 980 H. V. POWER SUPPLY/ DUCT ASS’Y

(UN11) %/ 7
(J2285) %/@

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
980 FM1-U192-000 1 H.V. POWER SUPPLY/ DUCT ASS'Y
1 FM2-K997-000 1 SENSOR UNIT, TEMPERATURE UN11, J2285
2 FM1-T152-000 1 HIGH VOLTAGE POWER SUPPLY UNIT UNS57, UN58
3 FM1-T155-000 1 2ND TRANSFER GUIDE ASS'Y
4 FM1-T176-000 1 2ND TRANSFER DUCT GUIDE ASS'Y
5 FK2-0472-010 1 FAN FM15, J2284
6 XA9-2050-000 2 SCREW, SELF-TAPPING, M3

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure 981 TRANSFER H. V. PCB ASSEMBLY

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
981 FM1-T156-000 1 TRANSFER H.V. PCB ASSEMBLY UN7

imageRUNNER ADVANCE DX C5800 Series (CUSA)



2021-11-02

Canon

ADF MATNTENANCE KIT

Figure B02

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
B02 NPN RF ADF MAINTENANCE KIT
1 FM2-A273-000 1 ADF MAINTENANCE KIT, DR-205

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure B11B INTERNAL COMPONENTS 1

N4
e

1"

w2 if;
6— N
(J103) 5 '

/& \j@ 2\ <$ “’&@/ >/

8 N \g/% (J4063)
(PS410) |2

©201) 8 \
(J4131) P
8 h & L
\ R T
% (PS414)

(J4071)

SEE FIGURE B16

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

FIGURE R
&KEY | PARTNUMBER | Qry DESCRIPTION SERIAL NUMBER
No. N IREMARKS
K
B11B NPN RF  [INTERNAL COMPONENTS 1
1 FM1-U274-000 1 FRONT COVER ASSEMBLY
PS407, PS410,
2 WG8-5935-000 3 |ic, PHOTO INTERRUPTER PS414, J4063, J4071,
J4131
3 XA9-2014-000 2 [SCREW, MACH. TRUSS HEAD, M4X6
4 FE2-A749-000 2 |COVER, HINGE 2
5 FE8-9253-000 1 |STOPPER, OPEN/CLOSE
6 FE8-9880-000 1 HINGE, LEFT
7 FM2-A275-000 1 FLAT CABLE UNIT J103, J201
8 XA9-2050-000 15  |SCREW, SELF-TAPPING, M3
9 FE8-9257-000 1 FLAG, OPEN/CLOSE SENSOR
10 XD9-0359-000 1 PIN, PARALLEL
11 FE2-C909-000 1 |LABEL, CAUTION
12 FE2-C419-000 1 LABEL, PROHIBITION DOCUMENT

imageRUNNER ADVANCE DX C5800 Series (CUSA)



2021-11-02

Canon

INTERNAL COMPONENTS 2

Figure B12B

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
B12B NPN RF INTERNAL COMPONENTS 2
1 FM1-U405-000 1 LIFTER DRIVE ASSEMBLY
2 FK4-3336-000 1 MOTOR, STEPPING, DC M406, J4051
3 FM1-U404-000 1 MOTOR ASS'Y M403, J4041
4 XA9-2050-000 15 SCREW, SELF-TAPPING, M3
5 XA9-1833-000 SCREW, D, M3X6
6 FE3-5529-010 1 PANEL, COPYBOARD
7 WG8-6233-000 1 PHOTO-INTERRUPTER PS404, J4074
8 FE8-5725-010 9 TAPE
9 FE8-9900-000 1 COVER, RIGHT
10 FM1-U342-000 1 PLATEN ROLLER ASS'Y
1" FK4-3333-000 1 CABLE, FLAT J104, J401

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

Figure B13

(J4070)

i

*—¢

(44070)

INTERNAL COMPONENTS 3

(J405)

& (4406)
1 ¥ (4408)

> (J4064)

(J4079) B (14063) 8
Vg o) / ____________
RN 1) B i
&, 4 (J4101) e : 9\ (M405) b3
/ \ (J4067)° @\ (44092 40 (%/
3 14074y L : % (PS408)
| % | (401) | | (J4064)
. @;\ (J4031)

Pss
(J4041)

11 (M402)
\(J4042)

7

T’”’
SN B
i

(J4032) v I
NS}

imageRUNNER ADVANCE DX C5800 Series (CUSA)

2021-11-02



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
B13 NPN RF INTERNAL COMPONENTS 3
1 XD9-0328-000 2 PIN, PARALLEL
2 XG9-0497-000 BEARING, BALL, MR106ZZ,
3 XA9-2050-000 15 SCREW, SELF-TAPPING, M3
4 XA9-2014-000 SCREW, MACH. TRUSS HEAD, M4X6
5 FL1-5310-000 1 PULLEY, 34T
6 FL1-5503-000 1 GLASS, READER
M401, M404, J4031
7 FM1-T962-000 2 MOTOR ASS'Y 01, M404, J4031,
J4032
8 FM1-U403-000 1 PAPER PICK-UP MOTOR ASS'Y
9 FK4-3336-000 1 MOTOR, STEPPING, DC M405, J4052
10 WG8-5935-000 1 IC, PHOTO INTERRUPTER PS408, J4064
1" FM1-W515-000 1 MOTOR ASS'Y M402, J4042
12 FE8-5099-000 1 SPRING, SLIDE, GROUNDING
13 FE2-A726-010 1 HOUSING, CLUTCH
14 FL1-4620-000 1 ROLLER, EXTRACTION, 1
15 FL1-4621-000 1 ROLLER, EXTRACTION, 2

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure B14 INTERNAL COMPONENTS 4

8
____________ W :
‘ N9 % | (PS420) %/ 403
| SEEFIGURE | (J4082) 1/ %/ o)
| B16 5 L
& (UN402)I_§i-L"E Sy s
2 i T ! I . (J4085)
. /l4
1
: e g
| Lo T e
: @ > -
(J4083) : 1 ] —
| | RO
; (44084) & ; (PS419) 'y | {' (PS401) i
; | ; (woce) [ | o
| | 5 L l
5 S - %j
14067
(aoen SEE FIGURE B15
Noes) /1
\%
|(Ps418)

if (J4065)

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
B14 RF INTERNAL COMPONENTS 4
PS401, PS402,
PS403, PS417,
PS418, PS419,
1 WG8-6233-000 7 PHOTO-INTERRUPTER
PS420 J4061, J4062,
J4065, J4066, J4082,
J4083, J4085
2 XA9-2050-000 15 SCREW, SELF-TAPPING, M3
3 FM2-A693-000 1 SCANNER UNIT
4 FM1-T423-000 1 SEPARATION ROLLER UNIT [DP]
5 FM1-T424-000 1 LOWER EXTRACTION GUIDE ASS'Y
6 FL1-4610-000 1 PAD, SEPARATION
7 FL4-0117-000 1 GUIDE, SEPARATION
8 FM1-K086-010 1 DOUBLE FEED DETECTION KIT UN402, UN403
9 FM1-T790-000 1 CHART, 2-SIDED DIFFER. ADJUST
10 FE8-9278-000 1 HOLDER, SEPARATION

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure B15 DOCUMENT TRAY ASSEMBLY

(LED402)(VR401)(PS409)(PS411)(PS412)(PS413)(PS415)

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
LED402, VR401,
PS409, PS411,
B15 FM1-T421-000 1 DOCUMENT TRAY ASSEMBLY

PS412, PS413,
PS415

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure B16 OPEN/CLOSE COVER ASSEMBLY

(LEDA401)

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
B16 FM1-T420-010 1 OPEN/CLOSE COVER ASSEMBLY LED401, PS406

FM1-T417-000

PAPER PICK-UP ROLLER ASSEMBLY

[DP]

imageRUNNER ADVANCE DX C5800 Series (CUSA)



2021-11-02

Canon

BASE FRAME ASSEMBLY

Figure B17

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
B17 NPN RF BASE FRAME ASSEMBLY
1 FE8-9881-000 1 HINGE, RIGHT
2 FE2-A477-010 1 TRAY, PAPER DELIVERY EXTENSION
3 FE8-9893-000 1 FLAG, PAPER DELIVERY SENSOR
4 FM1-U273-010 1 WHITE PLATE SUPPORT ASSEMBLY
5 WGB8-5935-000 1 IC, PHOTO INTERRUPTER PS416, J4073
6 XA9-2014-000 1 SCREW, MACH. TRUSS HEAD, M4X6
7 FL1-2754-010 9 CUSHION

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure B40 PLATEN GUIDE ASS'Y

(PS405)

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
B40 NPN RF PLATEN GUIDE ASS'Y
1 FM1-U343-000 1 PLATEN GUIDE ASS'Y PS405

imageRUNNER ADVANCE DX C5800 Series (CUSA)



2021-11-02

Canon

DF DRIVER PCB ASSEMBLY

Figure B90

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
B90 FM1-T957-000 1 DF DRIVER PCB ASSEMBLY UN401

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure D11B READER ASSEMBLY

18

(J6014)
(JB011)

&
(J601) \
J110) ///////J 19
(PS104

)
\
& (J101j)//;j/i:

/
@é(PS103)
: (J6011)
S g

9 Fs
"
feeae ¥ :
12 ///////?><i::::]//// 3
(PS102) >

15 15 \ > ‘i;
NGRS |
G| > @
1 9/ %h
)

(J7081)

™~ P (J7021)

J702
19 702 (J706)

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

FIGURE R
&KEY | PARTNUMBER | QTy DESCRIPTION SERIAL NUMBER
NO. N IREMARKS
K
D11B NPN RF  |READER ASSEMBLY
1 FE2-A109-000 1 |COVER, READER, RIGHT
2 FE2-A108-000 1 |POCKET, READER COVER, LEFT
3 FM1-U011-000 1 [MOTION SENSOR UNIT UN76
4 XA9-0893-000 1 [SCREW, M4xs
5 FL1-5098-000 1 |LABEL, SERVICE, PRINT
6 FE2-A105-000 1 |COVER, READER, FRONT
7 FE8-5747-000 1 |COVER, GLASS RETAINING
8 FE8-9943-000 1 |SHEET, FFC CLAMP
9 FK4-3318-000 1 |CABLE, FLAT J54, J541
10 FL1-5546-000 1 |GLASS, COPYBOARD
11 FL1-5083-000 1 |GLASS, READER
12 FE8-5215-000 1 |FLAG, OPEN/CLOSE SENSOR
13 FM1-T727-000 1 |MOTOR ASS'Y M101, J1091
14 FK4-4384-000 1 |ic, PHOTO SENSOR,DOCUMENT SIZE PS104, J1011
15 WG8-5935-000 3 |ic, PHOTO INTERRUPTER PS101,PS102,
PS103, J6011
16 XA9-1116-030 2 |SCREW,M3X5
17 XD9-0395-000 3 |RETAINING RING (E-TYPE)
18 XA9-2017-000 10 [SCREW, PANHEAD MACHINE M4X6
19 XA9-2050-000 12 |SCREW, SELF-TAPPING, M3
20 FE3-9178-000 1 |cap
21 FM2-A692-020 1 |SCANNER UNIT UN102, UN103
22 FM1-T790-000 1 |CHART, 2-SIDED DIFFER. ADJUST
23 FE2-A147-000 1 |LABEL, CLEANING POSITION
24 FL4-1300-000 1 |FRAME, JUMP GUIDE

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure H30B CASSETTE ASSEMBLY (SMALL)

NOTE : This assembly does not include the parts shown inside the frame

SEE NOTE

A

Y,

{
é/\\\\%\?«/
/

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
SMALL
H30B FM1-R487-000 1 CASSETTE ASSEMBLY
SEE NOTE
1 FE2-B537-000 6 ROLLER, CASSETTE
2 FE3-1613-010 1 LINK, SIZE DETECT
3 RC1-9396-000 1 GEAR, 14T

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure H31B CASSETTE ASSEMBLY (LARGE)

NOTE : This assembly does not include the parts shown inside the frame. Several kinds of labels are attached on the board for the parts of
Key No. 5.

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

2021-11-02

R
FIGURE
A SERIAL NUMBER
& KEY PART NUMBER QTY DESCRIPTION
N IREMARKS
NO.
K
LARGE
H31B FM1-R489-000 1 CASSETTE ASSEMBLY
SEE NOTE
1 FE3-1525-020 1 LINK, SIZE DETECT
2 FE2-B537-000 4 ROLLER, CASSETTE
3 FE3-1526-000 1 ARM, BACK END DETECT
4 RC1-9396-000 1 GEAR, 14T
5 FE8-4838-000 1 LABEL, CASSETTE SEE NOTE

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

Figure ZZA MECHANICAL STANDARD PARTS (HOW TO USE)

Mech anical standard parts

AR ER &

About a mechanical standard parts
A Mechanical standard parts is @ mechanical part which not parts peculiar to a product.
They are parts which are common to a Canon product and are used, such as a screw and a washer.
The Fig No. and parts number of the mechanical standard parts are not listed in the product parts catalog.
Refer to the parts catalog of mechanical standard parts when checking the parts number for screw or
washer etc. and identify them by part shape or size.

HWARER R & (X
BWRERS S E, HARFEOMAETELGEL ., ALPT v v REXY/ VEARKBTERENTILS
WA (4 HhE8R) OZETY,
HEO/—YH20T7I2E, BHRESROFigNo OHRESFREALTEY ELA,
RLL, TV v EORRESER NS LERF, BURERROA—VHEOTESREL. BROMKP
KEEHLHBTL, FALTLIMRAEZRESTIEZEL,

Material and surface treatment of a mechanical standard parts
Material and surface treatment of mechanical standard parts are assigned commonly for each part.
Refer to the Table 1 for the parts which material and surface treatment are assigned as numbers.

BHRERROMBE & URELE

HBHZERIOMBE XURELEICONTIE, EEBRLETROONATVET,
MHBLURELENES TROLATVIMRAICOVTIE, R1ZBBLTIESL,

Table 1 Material and Surface treatment
&1 HHEBLURTLE

No. Material Surface treatment Color
&= (o] RENE &

1 Stainless steel black coloring (BC4) Black
Stainless steel | AT LXAREE(BCY) 2

2 AT LA |nottobegiven White
L =]

3 Regular nickel plating (NL) White
Brass TE=—v7ILAvE(NL) =]

4 iR Black nickel plating (BN) Black
By ILAYFBN) =]

5 White zinc trivalent chromate treating (ZC3) White
BEFEH 3o 04— ~ZC3) B

6 Regular nickel chromium plating (NC) White
EE=— v 0OL*YFNC) =]

7 Steel Regular nickel plating (NL) White
Fil EE= I A Y FE(NL) =]

8 Iron and steel phosphating (P1) Black
SREM B ER IR LR (P1) =]

9 Black zinc trivalent chromate treating (BZ3) Black
BEEHIME/ 04— BZI) 2

imageRUNNER ADVANCE DX C5800 Series (CUSA)

2021-11-02



Canon

Figure ZZB (1/7)MECHANICAL STANDARD PARTS (SCREWS)

1. Screws
fal
How to read Parts Numbers
HRBESORA
Screws
Rl
XB1-2400-609
Type No.
BRES
Normal designation (d)
R LCOEY (d)
Length (L)
hloks L)

—— Material and Surface treatment

MBS URENE

1-1. Cross Recessed Head Screws for Precision Equipments
BEHSATFREFE ML

XB1-2 expresses Binding head machine screw.
XB1-2l&, /81 Y FRULERT

40 expresses M4.0.

401%, M4.0ERT

0-60 expresses a length of 6.0mm.

0-601%. 6.0MMOEEEXRT

9 expresses Steel (Black zinc trivalent chromate
treating) from Table 1.

olF, R1& Y (REHEMIMME/OA—) XY

HE—— = wmer ofHE—— o e
K H‘
‘ L
° XA1-3
Head size (mm)

Type No. Type SEERT ik (mm)
HAES LWl M1.4[M1.6|M1.7| M2 |M2.5|M2.6

Pan head Class 1 D XA1-1 2| 24| 25 3] 38 4
XA1-1 B

o H XA1-1 05(055| 05| 06| 09| 0.8
XA1-3 Countersunk head Class 1 D XA1-3 2| 24| 25 3] 38 4

517 H XA1-3 0.48]0.55|0.58]0.73/0.85[0.93

Oval countersunk head Class 1 D XA1-4 2| 24| 25 3| 3.8 4
XA1-4 N

158 H+K xAa1-4 |oes| 0.8{0.88] 1[1.25] 1.3

Pan head Class 3 D XA1-6 25( 28 3| 35| 43| 45
XA1-6 1~ 358

&~ 3% H XA1-6 0.8]|0.85| 0.9 11 1.3 1.2

Pan head Class 2 D XA1-7 25| 28 3| 35| 43| 45
XA1-7 Akt

E 278 H xa1-7 | 05]0.55] 05| 06| 0.9] 0.8

imageRUNNER ADVANCE DX C5800 Series (CUSA)

2021-11-02



Canon

Figure ZZB

(2/7)MECHANICAL STANDARD PARTS (SCREWS)

1-2. Precision Tapping Screws
RBEA2 vELRL

L

XA4-3

XA4-5

g

Head size (mm)

Type No. Type BEERT & (mm)
BHES 585 M1.4|M1.6|M1.7| M2 [M2.5|M2.6
XA4-1 Vlﬁth ta}e{ed end pan head Class 1 D XA4-1 2| 24] 25 3] 3.8 4
BY-G~17E H XA4-1 0.5|0.55| 05| 06| 09] 038
XA4-2 Vlﬁth tate[ed end pan head Class 3 D XA4-2 25| 28 3| 35| 43| 45
Y -1 ~3%8 H XA4-2 0.8lo85] 09| 1] 13] 1.2
XA4-3 Vlﬁth tatejed end countersunk head D XA4-3 2| 24] 25 3| 3.8 4
BY-=5 H XA4-3 0.48]0.55(0.58(0.73/0.85(0.93
XAd-4 Vlﬁth tate[ed end pan head Class 2 D XA4-4 25| 28 3| 35| 43| 45
®Y-1a~27& H XA4-4 0.5|0.55| 05| 0.6 09| 0.8
XA4-5 With parallel end_ultra thin head D XA4-5 25[ 28 3 - - -
A bL— -BEE H XA4-5 02| 02| 02 - - -
XA With parallel eng pan head Class 1 D XA4-6 2] 24| 25 3| 3.8 4
A bL—b-ER17E H XA4-6 0.5[0.55| 05| 06| 0.9] 0.8
XA4-T With parallel eng pan head Class 3 D XA4-7 25| 28 3| 35| 43| 45
R b L— b-1R37E H XA4-7 0.8/085| 09| 1| 13| 12
XA4-8 With parallel end countersunk head D XA4-8 2] 24( 25 3] 38 4

- AbL—Fr-&E5 R

H XA4-8 0.48[0.5510.58|0.73]/0.85]0.93
XA4-9 With parallel ?ng pan head Class 2 D XA4-9 25| 28 3| 35| 43| 45
R b L— b-1R278 H XA4-9 0.5/0.55| 05| 0.6 09| 0.8

imageRUNNER ADVANCE DX C5800 Series (CUSA)

2021-11-02



Canon 2021-11-02

Figure ZZB (3/7)MECHANICAL STANDARD PARTS (SCREWS)

1-3. Cross Recessed Head Screws
—RA+FNFE DML

I
&
&

. dk
——

%

N

L
Head size (mm)
Type No. Type BEERT % (mm)
FHIES it M2 [M2.5[m2.6] M3 | M4 [ M5
XB1-1 P?Qhead dk XB1-1 3.5| 45| 45| 55 7 9
g k XB1-1 13| 1.7] 17| 2| 26] 3.3
XB1-2 Binding tlead di XB1-2 43| 53| 55| 6.3| 83|10.3
NV F k+f  XB1-2 12| 1.5] 16| 19| 25| 3.1
XB1-3 Coyntersunk head dk XB1-3 4 5 - 6 8| 10
) K XB1-3 1.2]11.45 -11.75| 23| 2.8
XB1-4 Oval E:ountersunk head dk XB1-4 4 5 - 6 8[ 10
RhEH k+f  XB1-4 16| 2| -[245] 32| 4
Screw part length
b 8| 12| 12| 12| 16| 20
RhUEBESD

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

Figure ZZB

(4/7)MECHANICAL STANDARD PARTS (SCREWS)

1-4. Cross Recessed Head Screws with Captive Washer
EEHAHTFRITE ML

[asma)

XB2-1

XB2-3

==

Type No.
BAES

Type
LY

XB2-1

Pan head + Plain washer (circular bright)
EARC+FES

XB2-2

Pan head + Spring washer
TR L+ERES

XB2-3

Pan head + Toothed lock washer
EARC+EAES

XB2-4

Pan head + Spring washer and
plain washer (circular bright)

R L+(ITta+F)ES

XB2-5

Binding head + Plain washer (circular bright)
NA Y FRC+TESR

XB2-6

Binding head + Spring washer
N 2 FRU+EhES

XB2-7

Binding head + Toothed lock washer
N U FR C+ETESR

XB2-8

Binding head + Spring washer and
plain washer (circular bright)

A v FRU+(IFh+T)EE

XB2-7

XB2-4

imageRUNNER ADVANCE DX C5800 Series (CUSA)

2021-11-02



Canon

Figure ZZB (5/7)MECHANICAL STANDARD PARTS (SCREWS)

1-5. Hexagon Head Tapping Screws for Matallic Materials
SEANAZvE RL

Head size (mm)
Type No. Type BEER~T i (mm)
HAES LWl M3 M4
For metallic materials D 8 10
XB3-6 £EAZ v EY B 55 | 55
XB3-7 For metallic materials with clawed H XB3-6 3.1 3.1
B SBRAZ VEL-DOHTE H XB3-7 3.2 32
1-6. Special Tapping Screws
HgavE RL
é
f <
K L |
Head size (mm)
BEER~T % (mm)
Type No. Type M3 M4
BHES 5 d 6.3 8.3
Binding head k 1.3 1.7
XB4-5 RA VR ket 19 | 25

imageRUNNER ADVANCE DX C5800 Series (CUSA)

2021-11-02



Canon 2021-11-02

Figure ZZB (6/7)MECHANICAL STANDARD PARTS (SCREWS)

1-7. General Head Tapping Screws
—#&A2vE L

XB4-6 XB4-8
XB4-7
Head size (mm)
Type No. Type BEERT % (mm)
HAES Eepl| M2 [M2.5|M2.6| M3 | M4 | M5
Pan head dk XB4-6 35| 45| 45| 55 7 9
XB4-6 AR
N K XB4-6 13 1.7] 17 2| 26| 33
XB4-7 Binding head dk XB4-7 43| 53| 55| 6.3] 8.3]/10.3
Nk k+f  XB4-7 12| 15| 16] 1.9] 2.5] 31
XB4-8 Countersunk head dk XB4-8 4 5| 52 6 8| 10
) k XB4-8 1.2[1.45| 1.5(1.75] 2.3| 2.8

1-8. Tapping Screws for Metallic Materials
2BAZvEVRL

XB5-1 XB5-6
XB5-2

Head size (mm)

Type No. Type BEEB~T & (mm)
EHES Lkl M2.5[M2.6] M3 | M4 | M5
XB5-1 Pan head dk  XB5-1 45| 45) 85| 7| 9
<N kK XB5-1 171 1.7 2| 26| 33
XB5-2 Binding bead dk XB5-2 55| 55| 6.3| 8.3[10.3
NAUF k+f  XB5-2 1.6| 1.6] 1.9/ 2.5| 3.1
XB5-6 Flarlged panéhead di XB5-6 6.5 6.5 8| 10| 12
DIEfFELHER k XB5-6 21| 2.1[1.75] 3.2 4

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Figure ZZB

Canon

1-9. Hexagon Socket Set Screws
RANRGFELEDHRLC

(7/7)MECHANICAL STANDARD PARTS

(SCREWS)

Head size (mm)

SEER T (mm)
M1.6 M2.5
M2 M3 | M5 | M5 | M6
Type No. Type M1.7 M2.6
EHES 25 S 07| 09| 13| 15| 2| 25| 3
XB6-1 Cone point t 15| 1.7 2 2| 25 3| 35
LAY T Ot max XB6-1 04| o5]|o065/075] 1[1.25] 15
XB6-2 Double point d1 max XB6-2 - 1.2) 15[ 17| 22| 28] 33
T TNRA > b 1 min XB6-2 1] 12] 14] 19] 24] 2.9
XB6.3 Flat point dp max XB6-3 08| 1] 15] 2| 25] 35] 4
) 5 dpmin XB6-3  [0.55|0.75/1.25[1.75(2.25| 3.2| 3.7
1-10. Flanged Pan Head Machine Screws
DIEfFELDMRL
s E— <
AﬁLnggggJ
Head size (mm)
SEER T (mm)
Type No. Type M2.5
HHES 87 M2 M2.6 M3 | M5 | M5
XB6-7 Flanged pan head dk 5| 65 8| 10| 12
DiEFELEAR K 17| 21| 25] 32 4

imageRUNNER ADVANCE DX C5800 Series (CUSA)

2021-11-02



Canon

Figure ZZC

MECHANICAL STANDARD PARTS (BOLTS)

2. Bolts (Socket head cap screw)

RIL

How to read Parts Numbers

BRESORA

Bolt (Socket head cap screw)

R+

XB7-1080-409
XB{1

Type No.
BHES

Normal designation (d)
R LOFY (d)

Length (L)
RLOKE (L)

—— Material and Surface treatment

MHELUVRENE

2-1. Hexagon socket head cap screws
RARGERL -

XB7-1 expresses Hexagon socket head cap screws.
XB7-11E, RARMFERL FERT

080 expresses M8.0.
0801k, M8.0%ERTY

40 expresses a length of 40mm.
401%. 4 0mmOEEERT

9 expresses Steel (Black zinc trivalent chromate
treating) from Table 1.

9lF. R1&VH (REEMIME/OA—bF) X7

L
Head size (mm)
BEER Tk (mm)
M3| M4| M5| M6 | M8 | M10| M12
Type No. Type S 2.5 3 4/ 5 6 8| 10
HHES 5 di 55| 7| 85| 10| 13| 16| 18
XB7-1 Hexagon socket head cap screws K 3 4 5 6 8| 10| 12
. RANRGFERL + Screw part length
18| 20| 22| 24| 28| 32| 36
B LHEE b

imageRUNNER ADVANCE DX C5800 Series (CUSA)

2021-11-02



Canon 2021-11-02
Figure ZZD MECHANICAL STANDARD PARTS (NUTS)
3. Nuts
FTuk
How to read Parts Numbers
BRESORA
Nuts
Tk
XB7-2100-309
Type No. XB7-210 expresses Hexagon nut class 1.
HAES XB7-2101%. R"AF v MEEXRT
Normal designation (d) 0-30 expresses M3.0.
R COEY (d) 0-30l&. M3.0E%XY
L—— Material and Surface treatment 9 expresses Steel (Black zinc trivalent chromate
treating) from Table 1.
MHBL UREOE olF. R1& V] (REEMIMM/OA—F) KT
3-1. Hexagon Nuts and Hexagon Thin Nuts
NATY bk
(O)
\\ /
S m m Head size (mm)
BBEB~Hi% (mm)
M2 [M2.5] M3 | M4 | M5 [ M6 | M8
Type No. Type S 4| 5|55 7| 8] 10] 13
EHES il m XB7-210 16| 2[24]|32] 4] 5|65
XB7-210 Hexagon nut Class 1 m_XB7-220 12| 16[ 18] 24| 32| 36 5
RAT Y 178 m xB7-230,231 16| 2| 24| 32|47|52]|68
Hexagon nut Class 3 m_XB7-240, 241 - - - -1 511567175
XB7-220 o
RETF v b3 m XB7-250 -1 - -] -[selse1]79
XB7-230 Hexagon nut Style 1 double chamfered m XB7-260 121 16| 18| 22| 27| 32 4
RATY F-REAI-TEL Y m_XB7-270 12|16 18| 22[ 27| 32| 4

Hexagon nut Style 1 washer faced
XB7-231 | kg b-R 2 A VBT E

Hexagon nut Style 2 double chamfered
XB7-240 | xpmy o bz B A L2-TEE Y

Hexagon nut Style 2 washer faced
XBT-241 | R F o h-R B4 L2-BEfTE

Hexagon nut
XB7-250 | g b

Hexagon thin nut double chamfered
XB7-260 | xmigs o b-mEE Y

Hexagon thin nut not chamfered
XB7-270 | xfig+ v h-EE YL

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon

Figure ZZE

5. Retaining Rings
1 %R

How to read Parts Numbers

HRBESORA

Retaining Rings
1

XD2-1100-202
XD2-110

Type No.
HANBES

Nominal designation

20

RSB & CRELE

5-1. Retaining Rings - E type

Ef 1L %R

L—— Material and Surface treatment

Type No.
HRES

Type
$5

XD2-110

Retaining ring - E type (Type 1)
EfzitHm (17&)

XD2-120

Retaining ring - E type (Type 2)
Ef Lo (278)

(1/3)MECHANICAL STANDARD PARTS (RETAINING RINGS)

XD2-110 expresses retaining ring-E type (Type1).
XD2-1101%, Efiboir (138) £RT

0-20 expresses a 020 of nominal designation.
(See Table 5)

0-201F, MEU020% %KY (REBH)

2 expresses Stainless steel (Surface treatment is
not to be given) from Table 1.

2iF, RI&KYRTULR (RELEARL) 2KRT

Table 5 *5
Type Nominal_
B desgniatlon d (mm)|D (mm)]| t (mm)
BETR
007 0.65 2 0.2

010 [ 0.95 2.8 0.2
013 | 1.25 3.3 0.3
017 | 1.65 4.2 0.4
020 ] 1.95 4.6 0.5

024 | 2.35 6| 06

028 | 274 65| 06

Type 1 032 | 314 72| o8
158 037 | 3.64 8| 07

040 | 3.93 10 0.7
042 | 4.13 10 0.7
050 | 4.93 11 0.7
058 | 5.73 12 0.7
060 [ 5.93 | 127 0.9
064 | 6.32 | 135 0.9
074 | 7.31 15 0.9

080 [ 7.91 16.5 1

008 0.8 2 0.2

012 1.2 3 0.3

015 1.5 4 04

020 2 5 0.4

025 25 6 0.4

Type 2 030 3 7 0.6
2%& 040 4 9 0.6
050 5 11 0.6

060 6 12 0.8

070 7 14 0.8

080 8 16 0.8

090 9 18 0.8

100 10 20 1

imageRUNNER ADVANCE DX C5800 Series (CUSA)

2021-11-02



Canon 2021-11-02

Figure ZZE (2/3)MECHAN|CAL STANDARD PARTS (RETAINING RINGS)

5-2. Grip Rings
g1)y TR
; Table 5 =5
1 Nominal
designation [ ds (mm)| t (mm)| b (mm)| a (mm)|do (mm)
R
T 020 1.9 0.5 1 1.8 0.8

025 | 2.35 0.5 1.2 1.9 0.9
030 [ 2.85 0.6 1.4 1.9 0.9

035 3.3 0.6 1.6 2 0.9
JL; 040 3.8 0.8 1.8 2.8 1.2
045 | 4.25 0.8 2 2.9 1.3
050 | 4.75 08| 22 2.9 1.3
060 5.7 1 2.4 3.1 1.4
Type No. Type 070 | 6.7 1 2.7 3.3 1.4
HAES K51 080 | 7.7 1 3| 35| 14
Grip ring 090 [ 8.65 1.2 3.3 4.7 1.5
XD2210 | iy ikt 100 | 9.65 12| 35| 47 2
5-3. Toothed Retaining Rings
WA ER LR
Table5 %5
Nominal No of
designation | d2 (mm)|D (mm)| t (mm) teeth
- U S
015 1.4 52| 025 3
;Mef 020 1.9 6| 025 3
t 024 | 23| 64| 025 3
030 | 28 8| 025 4
040 3.8 9| 025 4
Type No. Type 050 | 4.8 10 | 0.25 5
HIES ull 060 | 58 11| 025 5
Toothed retaining ring 080 7.8 13 | 0.25 5
XD2-230 | mir it oot 100 | 98] 154 0.25 6

imageRUNNER ADVANCE DX C5800 Series (CUSA)



Canon 2021-11-02

Figure ZZE (3/3)MECHANICAL STANDARD PARTS (RETAINING RINGS)

5-4. Retaining Rings - C Type

CHzLL bR Table5 %5
Nominal
designation | da (mm)| t (mm)| b (mm)| a (mm)|do (mm)

Et P
010 [ 93 1 1.6 3 1.2
012 [ 111 1 18| 3.2 15
e 014 | 129 1 2| 34 17
S 015 | 138 1] 24| 35| 17
016 | 147 1 22| 36 17
017 | 157 1 22| 37 17
Type No. Type 018 | 16,5 12| 26| 38 1.7
HRIES 50 020 | 185 12| 27 39 2
XD2-310 Retaining ring - C type for shaft 022 | 205 1.2 2.7 4.1 2
CHitohEs A 025 | 23.2 12| 31 43 2
028 | 25.9 15| 31 46 2
030 | 27.9 15| 35| 48 2
032 | 296 15| 35 5/ 25
035 | 32.2 15 4| 54| 25

Table 5 #*=5
Nominal
designation [ da (mm)| t (mm) | b (mm)| a (mm)|do (mm)

< Ry
010 | 107 1 18| 31 1.2
K 011 [ 11.8 1 18| 3.2 1.2
8 012 13 1 18| 33 15
014 | 151 1 2| 36 17
016 | 17.3 1 2| 37 17
018 [ 195 1 25 4 17
Type No. Type 019 20.5 1 2.5 4 2
HHES #5 020 | 215 1 25 4 2
XD2-320 Retaining ring - C type for hole 022 | 235 1 2.5 4.1 2
CHit o <A 025 | 26.9 1.2 3| 44 2
028 | 30.1 1.2 3| 46 2
030 | 321 12 3| a7 2

032 | 344 1.2 3.5 5.2 25
035 | 37.8 1.5 3.5 5.2 2.5
037 [ 398 1.5 3.5 5.2 2.5
040 | 435 1.8 4 5.7 2.5
042 | 455 1.8 4 5.8 2.5
045 [ 485 1.8 4.5 5.9 2.5
047 | 50.5 1.8 4.5 6.1 2.5

050 | 54.2 2 4.5 6.5 2.5
052 | 56.2 2 5.1 6.5 2.5
055 | 59.2 2 5.1 6.5 25
060 | 64.2 2 5.1 6.8 2.5
062 | 66.2 2 5.5 6.9 2.5
068 | 72.5 2.5 6 7.4 2.5

072 | 76.5 2.5 6.6 7.4 2.5
075 | 79.5 2.5 6.6 7.8 2.5

080 | 85.5 2.5 7 8 2.5
085 | 90.5 3 7 8 3
090 [ 95.5 3 7.6 8.3 3
095 | 100.5 3 8 8.5 3

imageRUNNER ADVANCE DX C5800 Series (CUSA)



	Cover
	Index
	Figure PRE PREFACE
	Figure SNL Product Code No./Serial No.
	Figure A1C ASSEMBLY LOCATION DIAGRAM
	Figure A2 OPTION PARTS CATALOG LIST
	Figure 001B ACCESSORIES
	Figure 100B EXTERNAL COVERS, PANELS, ETC. (230V)
	Figure 100C EXTERNAL COVERS, PANELS, ETC. (120V)
	Figure 101 INTERNAL COMPONENTS 1
	Figure 102C INTERNAL COMPONENTS 2 (C5870, C5860, C5850 SERIES)
	Figure 102D INTERNAL COMPONENTS 2 (C5840 SERIES)
	Figure 103 INTERNAL COMPONENTS 3
	Figure 104 INTERNAL COMPONENTS 4
	Figure 105 INTERNAL COMPONENTS 5
	Figure 106 INTERNAL COMPONENTS 6
	Figure 107A MACHINE REAR PLATE 1 (C5870, C5860, C5850 SERIES)
	Figure 107B MACHINE REAR PLATE 1 (C5840 SERIES)
	Figure 108 MACHINE REAR PLATE 2
	Figure 111 RIGHT DOOR ASSEMBLY 1
	Figure 112 RIGHT DOOR PAPER FEED ASSEMBLY
	Figure 113 RIGHT DOOR ASSEMBLY 2
	Figure 114 RIGHT DOOR ASSEMBLY, LOWER
	Figure 130 CONTROL PANEL ASSEMBLY
	Figure 140B POWER CORD TERMINAL ASSEMBLY (120V US, CA, LTN)
	Figure 140C POWER CORD TERMINAL ASSEMBLY (230V LTN, EUR, AU, SG, KR)
	Figure 191 FRONT FAN ASSEMBLY
	Figure 192 REAR FAN ASSEMBLY
	Figure 193 FAN ASSEMBLY (C5870, C5860, C5850 SERIES)
	Figure 194A SIDE END COOLING FAN ASS'Y (C5870, C5860, C5850 SERIES)
	Figure 194B SIDE END COOLING FAN ASS'Y (C5840 SERIES)
	Figure 250 MAIN DRIVE ASSEMBLY
	Figure 261A PAPER PICK-UP DRIVE ASSEMBLY (C5870 SERIES)
	Figure 261B PAPER PICK-UP DRIVE ASSEMBLY (C5840 SERIES)
	Figure 261C PAPER PICK-UP DRIVE ASSEMBLY (C5860, C5850 SERIES)
	Figure 262A REG. DUPLEXING DRIVE ASSEMBLY (C5870 SERIES)
	Figure 262B REG. DUPLEXING DRIVE ASSEMBLY (C5840 SERIES)
	Figure 262C REG. DUPLEXING DRIVE ASSEMBLY (C5860, C5850 SERIES)
	Figure 270A BOTTLE DRIVE ASSEMBLY (C5870, C5860, C5850 SERIES)
	Figure 270B BOTTLE DRIVE ASSEMBLY (C5840 SERIES)
	Figure 280 FIXING DRIVE ASSEMBLY
	Figure 290 LIFTER DRIVE ASS'Y
	Figure 310A PAPER PICK-UP ASSEMBLY, 1 (C5870, C5860, C5850 SERIES)
	Figure 310B PAPER PICK-UP ASSEMBLY, 1 (C5840 SERIES)
	Figure 311A PAPER PICK-UP ASSEMBLY, 2 (C5870, C5860, C5850 SERIES)
	Figure 311B PAPER PICK-UP ASSEMBLY, 2 (C5840 SERIES)
	Figure 313 VERTICAL PATH LOWER GUIDE ASS'Y
	Figure 315 MULTI PAPER PICK-UP TRAY ASS'Y
	Figure 316 MULTI PAPER PICK-UP ASSEMBLY
	Figure 320 SECONDARY TRANSFER ASS'Y
	Figure 321A REGISTRATION ASSEMBLY (C5870, C5860, C5850 SERIES)
	Figure 321B REGISTRATION ASSEMBLY (C5840 SERIES)
	Figure 332 DUPLEXING GUIDE ASSEMBLY
	Figure 350 PAPER DELIVERY ASSEMBLY
	Figure 351 FIRST PAPER DELIVERY ASSEMBLY
	Figure 352 SECOND PAPER DELIVERY ASSEMBLY
	Figure 460A LASER SCANNER ASSEMBLY (C5870 SERIES)
	Figure 460B LASER SCANNER ASSEMBLY (C5840 SERIES)
	Figure 460C LASER SCANNER ASSEMBLY (C5860, C5850 SERIES)
	Figure 530 INTER. TRANSFER BELT ASSEMBLY
	Figure 627 BOTTLE BASE ASSEMBLY, BLACK
	Figure 628 BOTTLE BASE ASSEMBLY, COLOR
	Figure 640 DEVELOPING ASSEMBLY
	Figure 650B TRAY DRUM ASSEMBLY
	Figure 770 CONTAINER, WASTE TONER, WT-202
	Figure 771 WASTE TONER DRIVE ASS'Y, FRONT
	Figure 772 WASTE TONER DRIVE ASS'Y, REAR
	Figure 773 WASTE TONER FEED ASSEMBLY
	Figure 774 INTERDEDIATE FEED DRIVE ASS'Y
	Figure 775 INTERDEDIATE FEED ASS'Y
	Figure 810C FIXING ASSEMBLY, FX-207 (120V C5870, C5860, C5850 SERIES)
	Figure 810D FIXING ASSEMBLY, FX-205 (120V C5840 SERIES)
	Figure 810E FIXING ASSEMBLY, FX-207 (230V C5870,60,50 SERIES)
	Figure 810F FIXING ASSEMBLY, FX-205 (C5840 SERIES)
	Figure 900 CONTROLLER BOX ASSEMBLY
	Figure 910C POWER SUPPLY ASSEMBLY (120V C5870, C5860, C5850 SERIES)
	Figure 910D POWER SUPPLY ASSEMBLY (120V C5840 SERIES)
	Figure 910E POWER SUPPLY ASSEMBLY (230V)
	Figure 930B MAIN CONTROLLER PCB ASSEMBLY
	Figure 962 PAPER FEED DRIVER PCB ASSEMBLY
	Figure 980 H.V. POWER SUPPLY/ DUCT ASS'Y
	Figure 981 TRANSFER H.V. PCB ASSEMBLY
	Figure B02 ADF MAINTENANCE KIT
	Figure B11B INTERNAL COMPONENTS 1
	Figure B12B INTERNAL COMPONENTS 2
	Figure B13 INTERNAL COMPONENTS 3
	Figure B14 INTERNAL COMPONENTS 4
	Figure B15 DOCUMENT TRAY ASSEMBLY
	Figure B16 OPEN/CLOSE COVER ASSEMBLY
	Figure B17 BASE FRAME ASSEMBLY
	Figure B40 PLATEN GUIDE ASS'Y
	Figure B90 DF DRIVER PCB ASSEMBLY
	Figure D11B READER ASSEMBLY
	Figure H30B CASSETTE ASSEMBLY (SMALL)
	Figure H31B CASSETTE ASSEMBLY (LARGE)
	Figure ZZA MECHANICAL STANDARD PARTS (HOW TO USE)
	Figure ZZB MECHANICAL STANDARD PARTS (SCREWS)
	Figure ZZC MECHANICAL STANDARD PARTS (BOLTS)
	Figure ZZD MECHANICAL STANDARD PARTS (NUTS)
	Figure ZZE MECHANICAL STANDARD PARTS (RETAINING RINGS)



